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Disclaimer:

While we have made every attempt to ensure that the information contained in this compilation has
been obtained from reliable sources (from the answers given by the Institute of Chartered Accountants
of India), Vivitsu is not responsible for any errors or omissions, or for the results obtained from the use
of this information. All information on this site is provided "as is," with no guarantee of completeness,
accuracy, timeliness, or of the results obtained from the use of this information, and without warranty
of any kind, express or implied, including, but not limited to warranties of performance,
merchantability, and fitness for a particular purpose.

In no event will Vivitsu, its related partnerships or corporations, or the partners, agents, or employees
thereof be liable to you or anyone else for any decision made or action taken in reliance on the
information on this site or for any consequential, special, or similar damages, even if advised of the
possibility of such damages.

This compilation is presented for informational and educational purposes and should not be
considered a formal book or publication.

It is essential to use critical thinking and judgment when applying the knowledge and information
provided in this compilation. The compiler does not endorse or promote any specific products,
services, or organizations mentioned in this compilation.

By using this compilation, readers agree to accept full responsibility for their actions and decisions
based on the information and content provided, and they acknowledge the limitations and potential
risks associated with any compilation of educational materials.
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Frequently Asked Questions

1. Why RTP’s, MTP’s and PYP’s?
RTP’s, MTP’s, and PYP’s are extremely important to ensure that you reproduce ICAl language.
These questions train you to understand what is important and what is expected of you.
At least 41% of questions™* are asked from previous RTP’s, MTP’s and PYP’s.

2. Whatis included?
In this compiler, all questions from the last 3, 5 or 11 attempts depending on the one you have
selected will be available. There will be references to the marks and the attempt from which
they were asked. Identical or similar questions have been removed and references for both
attempts are mentioned.

3. What s the benefit of Chapter-wise?
We have categorized each and every question from all Old RTPs, MTP’s, and PYP’s into
chapters. This means that you don't have to wait until you've completed your entire syllabus
to tackle an RTP, MTP, or past paper. You can start solving these questions to check your
conceptual clarity right after finishing a particular chapter.

4. What does amended for the latest attempt mean?
When we reviewed all the questions from the past 11 attempts of RTP, MTP, and PYP’S, we
didn't just segregate them Chapterwise; we also updated them to reflect the latest provisions.
All the answers provided in the compilation are applicable for the May 2024 examination. So,
there's no need to stress about outdated or incorrect information.

5. How are Old RTP’s, MTP’s & PYP’s beneficial for me?

All old RTPs, MTPs, and PYPs have been organized according to the new syllabus issued by ICAL.
This means that if a specific chapter from the old scheme is not included in the new scheme,
it has been omitted. If a particular chapter in the new scheme is based on concepts from two
or more chapters in the old scheme, it has been adapted to align with how the chapter should
be in the new scheme. If a chapter is only partially included in the new scheme, the questions
related to those specific concepts are only included in the corresponding chapter of the new
scheme. A comprehensive reconciliation of the chapters between the new scheme and the old
scheme is provided on the following page.

6. What if a new attempt is added post my purchase?
If you have purchased materials for the May 2024 attempt, you will receive a file with the
questions segregated Chapterwise specifically for that attempt.

7. What does N/A mean?
It could mean any of the following:
1. No questions from that chapter have been included in the selected attempts.
2. The chapteris newly introduced, and as a result, no questions have been previously asked
in RTP’s, MTP’s, or PYP’s.

i
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Reconciliation of chapters of the new scheme (May’24) with old course

New Chapter Name as per NEW Syllabus Paper No. as per
Chapter Old Course
No.

Note:

Contract Costing as per the Old Syllabus has been removed in the New Syllabus.
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Chapter 1

Introduction to Cost and Management Accounting

Question 1
Discuss the impact of Information Technology in Cost Accounting. (MTP 5 Marks March '19 & April ’23
& Sep ‘23, PYP 5 Marks Jan ’21, RTP May ’20, RTP May’22)

Answer 1
The impact of IT in cost accounting may include the followings:

(i)  After the introduction of ERPs, different functional activities get integrated and as a consequence
a single entry into the accounting system provides custom made reports for every purpose and
saves an organization from preparing different sets of documents. Reconciliation process of results
of both cost and financial accounting systems become simpler and less sophisticated.

(i) A move towards paperless environment can be seen where documents like Bill of Material, Material
Requisition Note, Goods Received Note, labour utilization report etc. are no longer required to be
prepared in multiple copies, the related department can get e -copy from the system.

(i) Information Technology with the help of internet (including intranet and extranet) helps in resource
procurement and mobilization. For example, production department can get materials from the stores
without issuing material requisition note physically. Similarly, purchase orders can be initiated to the
suppliers with the help of extranet. This enables an entity to shift towards Just-in-Time (JIT) approach
of inventory management and production.

(iv) Cost information for a cost center or cost object is ascertained with accuracy in timely manner. Each
cost center and cost object is codified and all related costs are assigned to the cost object or cost
center. This process automates the cost accumulation and ascertainment process. The cost
information can be customized as per the requirement. For example, when an entity manufacture or
provide services, it can know information job -wise, batch-wise, process-wise, cost center wise etc.

(v)  Uniformity in preparation of report, budgets and standards can be achieved with the help of IT. ERP
software plays an important role in bringing uniformity irrespective of location, currency, language
and regulations.

(vi) Cost and revenue variance reports are generated in real time basis which enables the management to
take control measures immediately.

(vii) IT enables an entity to monitor and analyse each process of manufacturing or service activity closely
to eliminate non value added activities.

The above are examples of few areas where Cost Accounting is done with the help of IT.

Question 2
Discuss the four different methods of costing along with their applicability to concerned industry? (MTP
March ‘18, 5 Marks)

Answer 2

Four different methods of costing along with their applicability to concerned industry have been
discussed as below:

(i) Job Costing: The objective under this method of costing is to ascertain the cost of each job order. A
job card is prepared for each job to accumulate costs. The cost of the job is determined by adding all
costs against the job it has incurred. This method of costing is used in printing press, foundries and
general engineering workshops, advertising etc.

(i) Batch Costing: This system of costing is used where small components/ parts of the same kind are
required to be manufactured in large quantities. Here batch of similar products is treated as a job and
cost of such a job is ascertained as discussed under (1), above. If in a cycle manufacturing unit, rims
are produced in batches of 2,500 units each, then the cost will be determined in relation to a batch of
2,500 units.

(ili) Contract Costing: If a job is very big and takes a long time for its completion, then method used for
Prakshal Shah | 8779583bie is known as Contract Costing. Here the cost of each contract is ascertained separately. It is
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suitable for firms engaged in the construct ion of bridges, roads, buildings etc.

(iv) Operating Costing: The method of Costing used in service rendering undertakings is known as
operating costing. This method of costing is used in undertakings like transport, supply of water,
telephone services, hospitals, nursing homes etc.

Question 3
Discuss the prerequisite of installing cost accounting system. (MTP Aug ‘18 5 Marks)

Answer 3
Before setting up a system of cost accounting the under mentioned factors should be studied:

(i) Objective: The objective of costing system, for example whether it is being introduced for fixing
prices or for insisting a system of cost control.

(i) Nature of Business or Industry: The Industry in which business is operating. Every business industry
has its own peculiarity and objectives. According to its cost information requirement cost accounting
methods are followed. For example, an oil refinery maintains process wise cost accounts to find out
cost incurred on a particular process say in crude refinement process etc.

(iii) Organizational Hierarchy: Costing system should fulfil the information requirement s of different
levels of management. Top management is concerned with the corporate strategy, strategic level
management is concerned with marketing strategy, product diversification, product pricing etc.
Operational level management needs the information on standard quantity to be consumed, report
on idle time etc.

(iv) Knowing the product: Nature of product determines the type of costing system to be implemented.
The product which has by -products requires costing system which account for by-products as well.
In case of perishable or short self - life, marginal costing method is required to know the contribution
and minimum price at which it can be sold.

(v) Knowing the production process: A good costing system can never be established without the
complete knowledge of the production process. Cost apportionment can be done on the most
appropriate and scientific basis if a cost accountant can identify degree of effort or resources
consumed in a particular process. This also includes some basic technical know -how and process
peculiarity.

(vi) Information synchronization: Establishment of a department or a system requires substantial
amount of organizational resources. While drafting a costing system, information needs of various
other departments should be taken into account. For example, in a typical business organization
accounts department needs to submit monthly stock statement to its lender bank, quantity wise
stock details at the time of filing returns to tax authorities etc.

(vii) Method of maintenance of cost records: The manner in which Cost and Financial accounts could be
inter-locked into a single integral accounting system and how the results of separate sets of accounts
i.e. cost and financial, could be reconciled by means of control accounts.

(viii) Statutory compliances and audit: Records are to be maintained to comply with statutory
requirements and applicable cost accounting standards to be followed.

(ix) Information Attributes: Information generated from the Costing system should possess all the
attributes of information i.e. complete, accurate, timeliness, relevant etc. to have an effective
management information system (MIS).

Question 4
Discuss the essential features of a good cost accounting system. (MTP Oct ‘19, 5 Marks, Old & New SM)

Answer 4
The essential features, which a good cost accounting system should possess, are as follows:

(a) Informative and simple: Cost accounting system should be tailor-made, practical, simple and capable of
meeting the requirements of a business concern. The system of costing should not sacrifice the utility by
introducing inaccurate and unnecessary details.

(b) Accurate and authentic: The data to be used by the cost accounting system should be accurate and
authenticated; otherwise it may distort the output of the system and a wrong decision may be taken.

Prakshal Shaltq)s779sé@gmity and consistency: There should be uniformity and consistency in classification, treatment and
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reporting of cost data and related information. This is required for benchmarking and comparability of the
results of the system for both horizontal and vertical analysis.

(d) Integrated and inclusive: The cost accounting system should be integrated with other systems like financial
accounting, taxation, statistics and operational research etc. to have a complete overview and clarity in
results.

(e) Flexible and adaptive: The cost accounting system should be flexible enough to make necessary
amendment and modifications in the system to incorporate changes in technological, reporting, regulatory
and other requirements.

(f)  Trust on the system: Management should have trust on the system and its output. For this, an active role
of management is required for the development of such a system that reflects a strong conviction in using
information for decision making.

Question 5
State the limitations of cost and management accounting. (MTP Oct 18 5 Marks, RTP Nov’21)

Answer 5
Like other branches of accounting, cost and management accounting is also having certain limitations.
The limitations of cost and management accounting are as follows:

1. Expensive: It is expensive because analysis, allocation and absorption of overheads require
considerable amount of additional work, and hence additional money.

2. Requirement of Reconciliation: The results shown by cost accounts differ from those shown by
financial accounts. Thus Preparation of reconciliation statements is necessary to verify their accuracy.

3. Duplication of Work: It involves duplication of work as organization has to maintain two sets of
accounts i.e. Financial Account and Cost Account.

4. Inefficiency: Costing system itself does not control costs but its usage does.

Question 6
DISCUSS the steps to be followed to exercise control over cost. (MTP 5 Marks Oct’20)

Answer 6

To exercise control over cost, following steps are followed:

(i) Determination of pre-determined standard or results: Standard cost or performance targets for a
cost object or a cost centre is set before initiation of production or service activity. These are desired
cost or result that need to be achieved.

(i) Measurement of actual performance: Actual cost or result of the cost object or cost centre is
measured. Performance should be measured in the same manner in which the targets are seti.e. if
the targets are set up operation-wise, and then the actual costs should also be collected and
measured operation-wise to have a common basis for comparison.

(iii) Comparison of actual performance with set standard or target: The actual performance so
measured is compared against the set standard and desired target. Any deviation (variance) between
the two is noted and reported to the appropriate person or authority.

(iv) Analysis of variance and action: The variance in results so noted are further analysed to know the
reasons for variance and appropriate action is taken to ensure compliance in future. If necessary,
the standards are further amended to take developments into account.

Question 7
DISCUSS the Standard and Discretionary Cost Centres (MTP 5 Marks March’21 & Oct ‘23, Old & New SM)

Answer 7

(i) Standards Cost Centre: Cost Centre where output is measurable and input required for the output can
be specified. Based on a well-established study, an estimate of standard units of input to produce a

unit of output is set. The actual cost for inputs is compared with the standard cost. Any deviation
Prakshal Shah | 8779794646
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(variance) in cost is measured and analysed into controllable and uncontrollable cost. The manager of
the cost centre is supposed to comply with the standard and held responsible for adverse cost
variances. The input-output ratio for a standard cost centre is clearly identifiable.

(ii) Discretionary Cost Centre: The cost center whose output cannot be measured in financial terms,
thus input-output ratio cannot be defined. The cost of input is compared with allocated budget for
the activity. Example of discretionary cost centers are Research & Development department,
Advertisement department where output of these department cannot be measured with certainty
and co-related with cost incurred on inputs.

Question 8
DISTINGUISH between cost control and cost reduction (MTP 5 Marks, Apr'21, Apr 19, Aug 18 & Oct ‘23)
(RTP (Nov 21, May 19, Nov '18 & Nov '22 & May ‘23) (PYP May ‘19 5 Marks, PYP 5 Marks Dec '21)

Answer 8

Difference between Cost Control and Cost Reduction

Cost Control Cost Reduction
1. Cost control aims at maintaining the costs in|1. Cost reduction is concerned with reducing
accordance with the established standards. costs. It challenges all standards and

endeavours to improvise them continuously

2. Cost control seeks to attain lowest possible | 2. Cost reduction recognises no condition as

cost under existing conditions. permanent, since a change will result in
lower cost.
3.  Incase of cost control, emphasis is on past | 3. In case of cost reduction, itis on present
and present and future.
4. Cost control is a preventive function 4. Cost reduction is a corrective function. It

operates even when an efficient cost control
system exists.

5.  Cost control ends when targets are 5. Cost reduction has no visible end and is a
achieved. continuous process.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

In this theoretical question on ‘Cost control and Cost reduction’, below average
performance of the examinees was observed.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

The theory question required knowledge of the concepts of two terms Cost Control and
Cost Reduction to identify differences between them. Most of the examinees answered
partly correct. Performance of the examinees was below average.

Question 9
EXPLAIN the difference between Cost Accounting and Management Accounting (MTP 5 Marks, Oct ’21
& March ‘23) (RTP Nov’'19, May '20 & Nov ‘22) (PYP 5 Marks Nov 20)

Answer 9
Difference between Cost Accounting and Management Accounting
Basis Cost Accounting Management Accounting

(i) Nature It records the quantitative It records both qualitative and
aspect only. quantitative aspect.

(ii) | Objective It records the cost of It Provides information to
producing a product and management for planning and
providing a service. co-ordination.

Prakshal Shah | 8779794646
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(iii) | Area It only deals with cost It is wider in scope as it includes
Ascertainment. financial accounting, budgeting,
taxation, planning etc.
(iv) | Recording of data | It uses both past and It is focused with the projection of
present figures. figures for future.
(v) | Development Its development is related It develops in accordance to the
to industrial revolution. need of modern business world.
(vi) | Rules and It follows certain principles | It does not follow any specific
Regulation and procedures for recording | rules and regulations.
costs of different products.

Question 10
How do you deal with the following in cost accounts?

(i) Fringe benefits
(ii) Bad debts. (MTP 5 Marks, Oct’21)
Answer 10

(i) Fringe benefits: These are the additional payments or facilities provided to the workers apart from
their salary and direct cost-allowances like house rent, dearness and city compensatory allowances.
These benefits are given in the form of overtime, extra shift duty allowance, holiday pay, pension
facilities etc. These indirect benefits stand to improve the morale, loyalty and stability of employees
towards the organization. If the amount of fringe benefit is considerably large, it may be recovered as
direct charge by means of a supplementary wage or labour rate; otherwise, these may be collected as
part of production overheads.

(ii) Bad debts: There is no unanimity among different authors of Cost Accounting about the treatmentof
bad debts. Oneviewisthat ‘bad debts’ should be excluded from cost. According to this view bad debts are
financial losses and therefore, they should not be included in the cost of a particular job or product.
According to another view it should form part of selling and distribution overheads, especially when
they arise in the normal course of trading. Therefore, bad debts should be treated in cost accounting
in the same way as any other selling and distribution cost. However extra ordinarily large bad debts
should not be included in cost accounts.

Question 11
DISCUSS cost classification based on variability and controllability. (MTP 5 Marks Nov “21 & March ‘18)
(RTP May '21 & May ’19, Old & New SM)

Answer 11
Cost classification based on variability

(i) Fixed Costs — These are the costs which are incurred for a period, and which, within certain output and
turnover limits, tend to be unaffected by fluctuations in the levels of activity (output or turnover). They
do not tend to increase or decrease with the changes in output. For example, rent, insurance of factory
building etc., remain the same for different levels of production.

(i) Variable Costs — These costs tend to vary with the volume of activity. Any increase in the activity results
in an increase in the variable cost and vice-versa. For example, cost of direct labour, etc.

(iii) Semi-variable Costs — These costs contain both fixed and variable components and are thus partly
affected by fluctuations in the level of activity. Examples of semi variable costs are telephone bills, gas
and electricity etc.

Cost classification based on controllability

(i) Controllable Costs - Cost that can be controlled, typically by a cost, profit or investment centre
manager is called controllable cost. Controllable costs incurred in a particular responsibility centre
can be influenced by the action of the executive heading that responsibility centre. For example, direct
costs comprising direct labour, direct material, direct expenses and some of the overheads are

9%enerally controllable by the shop level management.
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(ii) Uncontrollable Costs - Costs which cannot be influenced by the action of a specified member of an
undertaking are known as uncontrollable costs. For example, expenditure incurred by, say, the tool
room is controllable by the foreman in-charge of that section but the share of the tool-room
expenditure which is apportioned to a machine shop is not to be controlled by the machine shop
foreman.

Question 12
STATE Direct Expenses with examples. (MTP 5 Marks April "19)

Answer 12
Expenses other than direct material cost and direct employee cost, which are incurred to
manufacture a product or for provision of service and can be directly traced in an economically
feasible manner to a cost object. The following costs are examples for direct expenses:

(a) Royalty paid/ payable for production or provision of service;
(b) Hire charges paid for hiring specific equipment;

(c) Cost for product/ service specific design or drawing;

(d) Cost of product/ service specific software;

(e) Other expenses which are directly related with the production of goods or provision of service.

Question 13
EXPLAIN the difference between product cost and period cost. (5 Marks April ’19, Oct’22)

Answer 13
Product costs are those costs that are identified with the goods purchased or produced for resale. In
a manufacturing organisation they are attached to the product and that are included in the inventory
valuation for finished goods, or for incomplete goods. Product cost is also known as inventoriable
cost. Under absorption costing method it includes direct material, direct labour, direct expenses,
directly attributable costs (variable and non-variable) and other production (manufacturing)
overheads. Under marginal costing method Product Costs includes all variable production costs and
the all fixed costs are deducted from the contribution.

Periods costs are the costs, which are not assigned to the products but are charged as expense
against revenue of the period in which they are incurred. General Administration, marketing, sales
and distributor overheads are recognized as period costs.

Question 14
Some of the items of PR Company, a manufacturer of corporate office furniture, are provided below. As
the company is in the process of developing a formal cost accounting system, you are required to
CLASSIFY the items into three categories namely: (i) Cost tracing (ii) Cost allocation (iii) Non-
manufacturing item. Carpenter wages, Depreciation - office building, Glue for assembly, Lathe
department supervisor, Metal brackets for drawers, Factory washroom supplies, Lumber, Samples for
trade shows, Lathe depreciation, Lathe operator wages. (MTP 4 Marks March ’22)

Answer 14

Item Cost Tracing Cost Allocation Non-manufacturing

Carpenter wages Vv

Depreciation - office building V'

Glue for assembly '

Lathe department supervisor '

Metal brackets for drawers Vv

Factory washroom supplies '

Lumber Vv

Samples for trade shows V'
Prakshal Shah | 8779794646
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Lathe depreciation

Lathe operator wages

Question 15

STATE the method of costing for the following industries:

(i) Sugar manufacturing

(i) Bridge Construction

(iii) Advertising
(iv) Car Assembly (MTP 4 Marks April ’22)

Answer 15

S. No.

Industry

Method of costing

(i)

Sugar manufacturing

Process costing

(i)

Bridge Construction

Contract Costing

(iii)

Advertising

Job costing

Question 16

DEFINE cost units? WRITE the cost unit basis against each of the following Industry/Product-
Automobile, Steel, Cement, Chemicals, Power and Transport. (5 Marks March "23)(RTP Nov '22)

Answer 16

Cost units are usually the units of physical measurement like number, weight, area, volume, length,
time and value.

Industry or Product Cost Unit Basis

Automobile Number

Steel Ton

Cement Ton/ per bag etc.

Chemicals Litre, gallon, kilogram, ton etc.

Power Kilo-watt hour (kWh)

Transport Passenger- kilometer
Question 17

DISCUSS short notes on (i) Discretionary Cost Centre and (ii) Investment Centre (RTP Nov 20 & May ‘18)

Answer 17

(i) Discretionary Cost Centre: The cost centre whose output cannot be measured in financial terms, thus
input-output ratio cannot be defined. The cost of input is compared with allocated budget for the
activity. Example of discretionary cost centres are Research & Development department, Advertisement
department where output of these department cannot be measured with certainty and co-related with
cost incurred on inputs.

(ii) Investment Centres: These are the responsibility centres which are not only responsible for profitability
but also has the authority to make capital investment decisions. The performance of these responsibility
centres are measured on the basis of Return on Investment (ROI) besides profit. Examples of investment
centres are Maharatna, Navratna and Miniratna companies of Public Sector Undertakings of Central
Government.

Question 18

DESCRIBE Operation costing with two examples of industries where operation costing is applied. (RTP

Nov '20)

Answer 18

This product costing system is used when an entity produces more than one variant of final product
Prakshal Shah | 8779ususgelifferent materials but with similar conversion activities. This means conversion activity is similar
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for all the product variants but materials differ significantly. Operation Costing method is also known as
Hybrid product costing system as materials costs are accumulated by job order or batch wise but
conversion costs i.e. labour and overheads costs are accumulated by department, and process costing
methods are used to assign these costs to products. Moreover, under operation costing, conversion
costs are applied to products using a predetermined application rate. This predetermined rate is based
on budgeted conversion costs. The two examples of industries are Ready made garments and Jeweler

making.
Question 19
DEFINE Controllable Cost and Uncontrollable Cost. (RTP Nov ’18) (MTP 5 Marks March ’19, April '23 &
Sep ‘23)
Or
EXPLAIN the difference between controllable & uncontrollable costs? (RTP May ’22)
Answer 19

(i) Controllable Costs: - Cost that can be controlled, typically by a cost, profit or investment centre manager
is called controllable cost. Controllable costs incurred in a particular responsibility centre can be influenced
by the action of the executive heading that responsibility centre. For example, direct costs comprising
direct labour, direct material, direct expenses and some of the overheads are generally controllable by the
shop level management.

(ii) Uncontrollable Costs - Costs which cannot be influenced by the action of a specified member of an
undertaking are known as uncontrollable costs. For example, expenditure incurred by, say, the tool roomis
controllable by the foreman in-charge of that section but the share of the tool-room expenditure which is
apportioned to a machine shop is not to be controlled by the machine shop foreman.

Question 20
SUGGEST the unit of cost for following industries: (RTP May 23)
(a) Transport

(b) Power
(c) Hotel

(d) Hospital
(e) Steel

(f) Coal mining

(g) Professional Services
(h) Gas

() Engineering

0 oil

Answer 20
Cost units are as follows:
Industry or Product Cost Unit Basis
Transport Passenger- kilometer
Power Kilo-watt hour (kWh)
Hotel Room
Hospitals Patient day
Steel Ton
Coal mining Tonne/ton
Professional services Chargeable hour, job, contract
Prakshal Shah | 8779794646 | Gas Cubic feet
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Engineering Contract, job

Qil Barrel, tonne, litre

Question 21
Narrate the objectives of cost accounting. (Nov ’23)

Answer 21

The main objectives of introduction of a Cost Accounting System in a manufacturing organization are
as follows:

()  Ascertainment of cost: The main objective of a Cost Accounting system is to ascertain cost for
cost objects. Costing may be post completion or continuous but the aim is to arrive at a complete
and accurate cost figure to assist the users to compare, control and make various decisions.

(i) Determination of selling price: Cost Accounting System in a manufacturing organisation enables
to determine desired selling price after adding expected profit margin with the cost of the goods
manufactured.

(iii) Cost control and Cost reduction: Cost Accounting System equips the cost controller to adhere
and control the cost estimate or cost budget and assist them to identify the areas of cost
reduction.

(iv) Ascertainment of profit of each activity: Cost Accounting System helps to classify cost on the
basis of activity to ascertain activity wise profitability.

(v) Assisting in managerial decision making: Cost Accounting System provides relevant cost
information and assists managers to make various decisions.

Question 22
Mention the Cost Unit of the following Industries:
(i) Electricity

(i) Automobile

(iii) Cement

(iv) Steel

(v) Gas

(vi) Brick Making

(vii) Coal Mining

(viii) Engineering

(ix) Professional Services (PYP Nov’19,5 Marks)

Answer 22
Cost Unit of Industries:
S. No. Industry Cost Unit Basis
(i) Electricity Kilowatt-hour (kWh)
(ii) Automobile Number
(iii) Cement Ton/ per bag etc.
(iv) Steel Ton
(v) Gas Cubic feet
(vi) Brick-making 1,000 bricks
(vii) Coal mining Tonne/ton
(viii) Engineering Contract, job
(ix) Professional services | Chargeable hour, job, contract
(x) Hospitals Patient day
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This was a theoretical question based on cost unit in industries. Performance of the
examinees was Average.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

Question 23
Why are cost and management accounting information are required by the staff at operational level?
Describe. (PYP May ‘18, 5 Marks)

Answer 23

Operational level staffs- The operational level staffs like supervisors, foreman, team leaders are
requiring information

(i)  to know the objectives and performance goals for them
(i) to know product and service specifications like volume, quality and process etc.
(iii) to know the performance parameters against which their performance is measured and evaluated.

(iv) to know divisional (responsibility centre) profitability etc.

Question 24
Mention and explain types of responsibility centers. (PYP Nov ‘18, 5 Marks)

Answer 24
There are four types of responsibility centres:

(i) Cost Centres: The responsibility centre which is held accountable for incurrence of costs which are under
its control. The performance of this responsibility centre is measured against pre- determined standards
or budgets. The cost centres are of two types:

(a) Standard Cost Centre and (b) Discretionary Cost Centre

(i) Revenue Centres: The responsibility centres which are accountable for generation of revenue for the
entity. Sales Department for example, is the responsible for achievement of sales target and revenue
generation. Though, revenue centres does not have control on the all expenditures it incurs but some
time expenditures related with selling activities like commission to sales person etc. are incurred by
revenue centres.

(iii) Profit Centres: These are the responsibility centres which have both responsibility of generation of
revenue and incurrence of expenditures. Since, managers of profit centres are accountable for both costs
as well as revenue, profitability is the basis for measurement of performance of these responsibility
centres. Examples of profit centres are decentralised branches of an organisation.

(iv) Investment Centres: These are the responsibility centres which are not only responsible for profitability
but also has the authority to make capital investment decisions. The performance of these responsibility
centres is measured based on Return on Investment (ROI) besides profit.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This was a theoretical question on responsibility centres. Below average performance was
observed.

Question 25
State the Method of Costing to be used in the following industries: ". (PYP 5 Marks Nov ‘20)
(i) Real Estate
(ii) Motor repairing workshop
(iii)  Chemical Industry

(iv)  Transport service
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(v) Assembly of bicycles

(vi)  Biscuits manufacturing Industry

(vii) Power supply Companies

(viii) Car manufacturing Industry

(ix) Cement Industry

(x) Printing Press

Answer 25
Method of costing used in different industries:
S.No. | Industries Method of Costing
(i) Real Estate Contract Costing
(ii) Motor Repairing Workshop Job Costing
(iii) Chemical Industry Process Costing
(iv) Transport Service Service/Operating Costing
(v) Assembly of Bicycles Unit/ Single/Output/Multiple Costing
(vi) Biscuits Manufacturing Industry Batch Costing
(vii) Power Supply Companies Service/Operating Costing
(viii) Car Manufacturing Industry Multiple Costing
(ix) Cement Industry Unit/Single/Output Costing
(x) Printing Press Job Costing
Question 26

State the method of costing that would be most suitable for:

(i) Oil Refinery

(ii) Interior Decoration
(iii) Airlines Company

(iv) Advertising

(v) Car Assembly.

Answer 26

(PYP 5 Marks Jan ‘21)

Method of Costing

S.No. | Industry

Method of Costing

(i) Oil Refinery

Process Costing

(ii) Interior
Decoration

Job Costing

(iii) Airlines Company

Operation/ Service Costing

(iv) Advertising

Job Costing

(v) Car Assembly

Multiple Costing

Question 27

Specify the types of Responsibility centres under the following situations:

(i) Purchase of bonds, stocks, or real estate property.

(ii) Ticket counter in a Railway station.

(iii) Decentralized branches of an organization.

(iv) Maharana, Navratna and Miniratna public sector undertaking (PSU) of Central Government.

(v) Sales Department of an organization. (PYP 5 Marks July 21)

Answer 27

Particulars

Types of
Responsibility Centre

(i) Purchase of bonds, stocks, or real estate property.

Investment Centre

Revenue Centre
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(iii) Decentralized branches of an organization. Profit Centre

(iv) Maharatna, Navratna and Miniratna public sector Investment Centre
undertaking (PSU) of Central Government.

(v) Sales Department of an organization. Revenue Centre

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

It was a theoretical question requiring examinees to specify the type of responsibility
centre for the given five statements. Majority of the examinees failed to give clear
responses to the statements. Performance of the examinees was below average.

Question 28
Explain Direct Expenses and how these are measured and their treatment in cost accounting. (PYP May

’19 5 Marks)

Answer 28
Direct Expense: Expenses other than direct material cost and direct employee cost, which are incurred
to manufacture a product or for provision of service and can be directly traced in an economically feasible
manner to a cost object. The following costs are examples for direct expenses:

(i) Royalty paid/ payable for production or provision of service;

(i) Hire charges paid for hiring specific equipment;

(ili) Cost for product/ service specific design or drawing;

(iv) Cost of product/ service specific software;

(v) Other expenses which are directly related with the production of goods or provision of service. The above
list of expenses is not exhaustive; any other expenses which are directly attributable to the production
or service are also included as direct expenses.

Measurement of Direct Expenses

The direct expenses are measured at invoice or agreed price net of rebate or discount but includes duties
and taxes (for which input credit not available), commission and other directly attributable costs. In case
of sub-contracting, where goods are get manufactured by job workers independent of the principal
entity, are measured at agreed price. Where the principal supplies some materials to the job workers,
the value of such materials and other incidental expenses are added with the job charges paid to the job
workers.

Treatment of Direct Expenses

Direct Expenses forms part the prime cost for the product or service to which it can be directly traceable
and attributable. In case of lump-sum payment or one-time payment, the cost is amortized over the
estimated production volume or benefit derived. If the expenses incurred are of insignificant amount. i.e.
not material, it can be treated as part of overheads.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This theoretical question was related to ‘Direct Expenses’. Poor performance of the
examinees was observed.

Question 29
Briefly explain the ‘techniques of costing’. (PYP 5 Marks Dec ‘21)
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Techniques Description
Uniform When a number of firms in an industry agree among themselves to follow the same
Costing system of costing in detail, adopting common terminology for various items and
processes they are said to follow a system of uniform costing.

Advantages of such a system are:

i. A comparison of the performance of each of the firms can be made with that
of another, or with the average performance in the industry.

ii. Under such a system, it is also possible to determine the cost of production of
goods which is true for the industry as a whole. It is found useful when tax-
relief or protection is sought from the Government.

Marginal It is defined as the ascertainment of marginal cost by differentiating between fixed

Costing and variable costs. It is used to ascertain effect of changes in volume or type of

output on profit.

Standard It is the name given to the technique whereby standard costs are pre-determined

Costing and subsequently compared with the recorded actual costs. It is thus a technique of
an | cost ascertainment and cost control. This technique may be used in conjunction with

d Variance any method of costing. However, it is especially suitable where the manufacturing

Analysis method involves production of standardized goods of repetitive nature.

Historical It is the ascertainment of costs after they have been incurred. This type of costing

Costing has limited utility.

e  Post Costing: It means ascertainment of cost after production is completed.

e Continuous costing: Cost is ascertained as soon as the job is completed or
even when the job is in progress.

Absorption It is the practice of charging all costs, both variable and fixed to operations, processes

Costing or products. This differs from marginal costing where fixed costs are excluded.

Direct costing | Direct costing is a specialized form of cost analysis that only uses variable costs to
make decisions. It does not consider fixed costs, which are assumed to be associated
with the time periods in which they are incurred.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This theory question on technique of costing was not answered well. Examinees answered
different methods of costing instead of techniques. Performance of the examinees was

poor.

Question 30

Identify the methods of costing from the following statements:

(i) Costs are directly charged to a group of products.

(i) Nature of the product is complex and method cannot be ascertained.

(iii) Costs ascertained for a single product.

(iv) All costs are directly charged to a specific job.

(v) Costs are charged to operations and averaged over units produced. (PYP 5 Marks May’22)

Answer 30

Method of costing followed:

1.13

Situation

Method of costing
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(i) Costs are directly charged to a group of products.
(ii)Nature of the product is complex and method cannot be

Batch costing
Multiple costing
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(iii) Cost is ascertained for a single product.
(iv) All costs are directly charged to a specific job.
(v)Costs are charged to operations and averaged over units

produced.

Unit/ Single/Output costing

Job costing
Process costing

Question 31
Mention the cost units (physical measurements) for the following Industry/product:

(i) Automobile

(i) Gas

(iii) Brick works

(iv) Power

(v) Steel

(vi) Transport (by road)

(vii) Chemical

(viii) Oil

(ix) Brewing

(x) Cement (PYP5 Marks Nov 22)

Answer 31
Industry or Product Cost Units
Automobile Number
Gas Cubic feet
Brick works 1,000 bricks
Power Kilo-watt hour (kWh)
Steel Tonne
Transport (by road) Passenger- kilometer or Tonne-kilometer
Chemical Litre, gallon, kilogram, tonne etc.
Oil Barrel, tonne, litre
Brewing Barrel
Cement Ton/ per bag etc.
Question 32

Explain: Opportunity cost (PYP 2 Marks May ’18)

Answer 32

Opportunity Cost - This cost refers to the value of sacrifice made or benefit of opportunity foregone in
accepting an alternative course of action. For example, a firm financing its expansion plan by
withdrawing money from its bank deposits. In such a case the loss of interest on the bank deposit is the
opportunity cost for carrying out the expansion plan.

Question 33

Define cost objects and give examples of any four cost objects. (PYP 5 Marks, May ‘23)

Answer 33

Definition of cost objects
Cost object is anything for which a separate measurement of cost is required. Cost object may be a

product, a service, a project, a customer, a brand category, an activity, a department or a programme
etc.

Examples of cost objects

Product Smart phone, Tablet computer, SUV Car, Book etc.

Service An airline flight from Delhi to Mumbai, Concurrent audit
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Project Metro Rail project, Road projects etc.
Activity Quality inspection of materials, Placing of orders etc.
Process Refinement of crudes in oil refineries, melting of billets or ingots in

rolling mills etc.

Department | Production department, Finance & Accounts, Safety etc.
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Chapter 2
Material Cost

Question 1
DISTINGUISH clearly between Bin cards and Stores Ledger. (MTP 4 Marks March ’22 & March
23, Old & New SM)

Answer 1
Difference between Bin Card & Stores Ledger

Bin Card Stores Ledger

It is maintained by the storekeeper in the It is maintained in cost accounting
store. department.

It contains only quantitative details of | It contains information both in quantity and
material received, issued and returned to | value.

stores.

Entries are made when transaction takes It is always posted after  the

place. transaction.

Each transaction is individually Transactions may be summarized and then

posted. posted.

Inter-department transfers do not appear in | Material transfers from one job to another

Bin Card. job are recorded for costing purposes.
Question 2

A Ltd. produces a product ‘Exe’ using a raw material Dee. To produce one unit of Exe, 2 kg of Dee is
required. As per the sales forecast conducted by the company, it will able to sale 20,000 units of
Exe in the coming year. The following is the information regarding the raw material Dee:

(i) The Re-order quantity is 200 kg. less than the Economic Order Quantity (EOQ).
(ii) Maximum consumption per day is 20 kg. more than the average consumption per day.
(iii) There is an opening stock of 2,000 kg.
(iv) Time required to get the raw materials from the suppliers is 4 to 8 days.
(v) The purchase price is Rs.125 per kg.
There is an opening stock of 1,800 units of the finished product Exe. The rate of interest charged
by bank on Cash Credit facility is 13.76%.
To place an order company has to incur Rs. 720 on paper and documentation work. From the above
information COMPUT E the followings in relation to raw material Dee:
(a) Re-order Quantity
(b) Maximum Stock level
(c) Minimum Stock level
(d) Impact on the profitability of the company by not ordering the EOQ.

[Take 364 daysfor a year] (MTP April ‘19, 10 Marks)(RTP May’19)(Same concept different figures RTP
May 21)

Answer 2
Working Notes:

() Computation of Annual consumption & Annual Demand for raw material ‘Dee’:

Sales forecast of the product ‘Exe’ 20,000 units
Less: Opening stock of ‘Exe’ 1,800 units
Fresh units of ‘Exe’ to be produced 18,200 units
Raw material required to produce 18,200 units of ‘Exe’ (18,200 units x 2 | 36,400 kg.
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kg.)
Less: Opening Stock of ‘Dee’ 2,000 kg.
Annual demand for raw material ‘Dee’ 34,400 kg.

Computation of Economic Order Quantity (EOQ):

\/2 X Annual Consumption of "Dee!

EOQ =
Q Carrying Cost Per Unit Per annum Rs.125 X 13.76%
_ /2x34,400kg.X Rs.720

Rs.17.2

_ J2X34,400 kg.X Rs.720

= 1,697 kg.

(i) Re- Order level:

= (Maximum consumption per day x Maximum lead time)

_ {(Annual Consumption of 'Deer

364 Days + 20kg. ) X8 days}

= {(% + 20kg. ) X8 days} = 960kg.

(iii) Minimum consumption per day of raw material ‘Dee’:

Average Consumptionperday = 100kg.
Hence, Maximum Consumption per day =100 kg. + 20 kg. = 120 kg.
So, Minimum consumption per day will be

Average Consumption = Min.consumption + Max.consumption /2

Or, 100 kg. = Min.consumption 120kg. / 2
Or, Min. consumption = 200 kg — 120 kg. = 80 kg.
(a) Re-order Quantity:
EOQ-200 kg. = 1,697 kg. — 200 kg. = 1,497 kg.
(b) Maximum Stock level:
= Re-order level + Re-order Quantity — (Min. consumption per day x Min. lead time)
=960 kg. + 1,497 kg. — (80 kg. x 4 days)
= 2,457 kg. — 320 kg. = 2,137 kg.
(c) Minimum Stock level:
= Re-order level — (Average consumption per day x Average lead time)
=960 kg. — (100 kg. x 6 days) = 360 kg.
(d) Impacton the profitability of the company by not ordering the EOQ.

When purchasing the ROQ When purchasing the

EOQ
I Order quantity 1,497 kg. 1,697 kg.
I No. of orders a year 34,400kg./1,497kg. 34,400 kg./1,697kg.

= 22.90r 23orders = 20.270r 21orders

" Ordering Cost 23ordersx Rs. 720=Rs.16,560 21 orders x Rs. 720 =

Rs.15,120
vV Average Inventory 1,497kg./2 = 748.5kg. 1,697kg./2 = 848.5kg.
Vv Carrying Cost 748.5 kg. xRs. 17.2 = 848.5 kg. xRs. 17.2 =
Rs.12,874.2 Rs.14,594.2
VI Total Cost Rs. 29,434.20 Rs. 29,714.20
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Cost saved by not ordering EOQ = Rs. 29,714.20 - Rs. 29,434.20 = Rs. 280.

ion3
A store keeper has prepared the below list of items kept in the store of the factory.
Item Units Unit cost (X)
A 12,000 30.00
B 18,000 3.00
C 6,000 35.00
D 750 220.00
E 3,800 75.00
F 400 105.00
G 600 300.00
H 300 350.00
| 3,000 250.00
J 20,000 7.50
K 11,500 27.50
L 2,100 75.00

VIVITSU
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The store keeper requires your help to classify the items for prioritization. You are required to
APPLY ABC analysis to classify the store items as follows:

Store items which constitutes approx. 70%, 20% and 10% of total value as A, B and C respectively.
(MTP March ‘18, 10 Marks)

Answer 3

Statement of Total Cost and Ranking

Chapter 2 Material Cost

Item Units % of Total Unit cost (X) | Total cost (X) % of Total cost Ranking
units
A 12,000 15.30% 30.00 3,60,000 12.97% 2
B 18,000 22.94% 3.00 54,000 1.95% 11
C 6,000 7.65% 35.00 2,10,000 7.57% 5
D 750 0.96% 220.00 1,65,000 5.95% 7
E 3,800 4.84% 75.00 2,85,000 10.27% 4
F 400 0.51% 105.00 42,000 1.51% 12
G 600 0.76% 300.00 1,80,000 6.49% 6
H 300 0.38% 350.00 1,05,000 3.78% 10
I 3,000 3.82% 250.00 7,50,000 27.03% 1
J 20,000 25.49% 7.50 1,50,000 5.41% 9
K 11,500 14.66% 27.50 3,16,250 11.40% 3
L 2,100 2.68% 75.00 1,57,500 5.68% 8
78,450 100.00% 27,74,750 100.00%

Statement of classification of Inventory
Ranking Item % of Total units Cost () % of Total Cost | Category

1 | 3.82% 7,50,000 27.03%

2 A 15.30% 3,60,000 12.97%

3 K 14.66% 3,16,250 11.40%
1'877%7‘94040 E 4.84% 2,85,000 10.27%
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5 C 7.65% 2,10,000 7.57%
Total 46.27% 19,21,250 69.24% A
6 G 0.76% 1,80,000 6.49%
7 D 0.96% 1,65,000 5.95%
8 L 2.68% 1,57,500 5.68%
9 J 25.49% 1,50,000 5.41%
Total 29.89% 6,52,500 23.53% B
10 H 0.38% 1,05,000 3.78%
11 B 22.94% 54,000 1.95%
12 F 0.51% 42,000 1.51%
Total 23.84% 2,01,000 7.24 C
12 100% 27,74,750 100%
Question 4

The annual demand for an item of raw material is 4,000 units and the purchase price is expected to
be Rs. 90 per unit. The incremental cost of processing an order is Rs. 135 and the annual cost of
storage is estimated to be Rs. 12 per unit. COMPUTE the optimal order quantity and total relevant
cost of this order quantity? Suppose that Rs. 135 as estimated to be the incremental cost of
processing an order is incorrect and should have been Rs. 80. All other estimates are correct.
ESTIMATE the difference in cost on account of this error? Assume at the commencement of the
period that a supplier offers 4,000 units at a price of Rs. 86. The materials will be delivered
immediately and placed in the stores. Assume that the incremental cost of placing the order is zero
and original estimate of Rs. 135 for placing an order for the economic batch is correct. ANALYSE,
should the order be accepted? (MTP Aug ‘18, 10 Marks)

Answer 4
(i) Optimal order quantity i.e. E.0.Q. = v2x4,000x135 _ /90,000
12

=300 units
Relevant Cost of this order quantity Rs.
Ordering Cost = 222 13,33 say 14 orders at Rs.135 1,890

300

Carrying Cost = % X300 12 1,800
Relevantcost 3,690

(i) Revised EOQ= |Z*2% =231 units
Ordering Cost = % =17.32 say 18 orders at Rs. 80 1,440
Carrying Cost = % X 231 x12 1,386

Different in cost on account of this error = 3,690 — 2,826 = Rs. 864
(iii) In case of discount in purchase price, the total cost of Purchase cost, ordering cost and

carrying cost should be compared.

OriginalofferatRs.90per Supplier offered at Rs. 86
unit per unit
Rs. Rs.
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Purchase Cost 3,60,000 Purchase cost 4,000 x 86 3,44,000
Ordering cost 1,890 Ordering cost Nil
Carrying cost 1,800 |[Carrying cost 1/2 X4,000 X 12| 24,000
Total cost 3,63,690 3,68,000

This special offer at Rs. 86 per unit should not be accepted as its total cost is higher by Rs. 4,310
(3,68,000 — 3,63,690).as compared to original offer.

Question 5
A Ltd. manufactures a product X which requires two raw materials A and B in a ratio of 1:4. The
sales department has estimated a demand of 5,00,000 units for the product for the year. To produce
one unit of finished product, 4 units of material A is required.

Stock position at the beginning of the year is as below:

Product- X 12,000 units
Material A 24,000 units
Material B 52,000 units

To place an order the company has to spend Rs.15,000. The company is financing its working capital
using a bank cash credit @13% p.a.

Product X is sold at Rs.1,040 per unit. Material A and B are purchased at Rs.150 and Rs.200 respectively.
Required:
COMPUTE economic order quantity (EOQ):

(i) If purchase order for the both materials is placed separately.

(ii) If purchase order for the both materials is not placed separately. (MTP Oct. ‘19, 5 Marks)
Answer 5

Workings:
Annual production of Product X = Annual demand — Opening stock
=5,00,000 - 12,000 = 4,88,000 units

Annual requirement for raw materials = Annual production x Material per unit — Opening stock of
material

Material A = 4,88,000 x 4 units — 24,000 units = 19,28,000 units
Material B = 4,88,000 x 16 units — 52,000 units = 77,56,000 units

() Computation of EOQ when purchase order for the both materials is placed separately

E0Q = 2XAnnual Requirement for material XOrdeing cost
- Carrying Cost per unit per annum

. 2%19,28,000units xXRs.15,000
Material A=
13% of Rs.150

_ [38,56,000xRs.15,000
B Rs.19.5

=54,462 units

. 2%77,56,000units XRs.15,000
Material B=
13% of Rs.200

_ [1,55,12,000%Rs.15,000
- Rs.26

= 94,600 units

(i) Computation of EOQ when purchase order for the both materials is not placed separately
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2x19,28,000units+77,56,000)units XRs.15,000
13% of Rs.190%

Material A & B :\/

1,93,68,000XRs.15,000
Rs.24.7

=1,08,452units
1,08,452x%19,28,000

Material A = = 21,592 units
96,84,000
Material A = 1228252 X77.36000 _ gg g5 ynits
96,84,000
_ *(Rs.150x19,28,000)(Rs.200x77,56,000) ' _p_ 141
(19,28,000 77,56,000)
Question 6
Distinguish between Bill of Materials and Material Requisition Note. (MTP Oct. ‘19, Oct’20 5 Marks)
Answer 6
Bills of Material Material Requisition Note
1. It is document or list of materials | |t is prepared by the foreman of the consuming
prepared by the engineering/ department.

drawing department.
2. It is a complete schedule of | |tisa document authorizing
component parts and raw materials
required for a particular job or work
order.

Store-Keeper to issue material to the consuming
department

3. It often serves the purpose of a It cannot replace a bill of material.
Store Requisition as it shows the
complete schedule of materials
required for a particularjobi.e.it
canreplacestores requisition.

4 It can be used for the Itisusefulinarriving historical costonly.

purpose of quotation.

5 It helps in keeping a quantitative
control on materials drawn through
Stores Requisition.

Itshowsthe material actually drawn from stores.

Question 7
A company manufactures a product from a raw material, which is purchased at Rs.180 per kg. The
company incurs a handling cost of Rs.1,460 plus freight of Rs.940 per order. The incremental
carrying cost of inventory of raw material is Rs.2.5 per kg per month. In addition, the cost of working
capital finance on the investment in inventory of raw material is Rs.18per kg per annum. The annual
production of the product is 1,00,000 units and 2.5 units are obtained from one kg. of raw material.

Required:
() CALCULATE the economic order quantity of raw materials.
(i) DETERMINE, how frequently company should order for procurement be placed.

(ii) If the company proposes to rationalize placement of orders on quarterly basis, DETERMINE the
percentage of discount in the price of raw materials should be negotiated? Assume 360 days in a year.
(MTP 10 Marks May 20, RTP May’23) (Same concept different figures MTP 5 Marks Oct’18)
Answer 7

(i) Calculation of Economic Order Quantity (E.0.Q)
Annual requirement (usage) of raw material in kg. (A) = 1,00,000units / 2.5 units per kg. = 40,000kg.
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= Rs.1,460 + Rs.940 = Rs.2,400

2.7

Carrying cost per unit per annum (C) i.e. inventory carrying cost + working capital cost

= (Rs.2.5 x 12 months) + Rs.18 = Rs.48 per kg.
£0.Q = ,@ _ \/2X40,000kg.><Rs.2,400 - 2,000 ke.
c Rs.48
(ii) Frequency of placing orders for procurement:
Annual consumption (A) = 40,000 kg.
Quantity per order (E.0.Q) =2,000 kg.
No. of orders per annum( 4 ) = 20.900k9. _ 50 orders
E.0.Q° ~ 2,000kg.
. . _ 360days _
Frequency of placing orders( in days) = oorders 18 days
(iii) Percentage of discount in the price of raw materials to be negotiated:
Particulars On Quarterly Basis On E.O.Q Basis
1. Annual Usage (in Kg.) 40,000 kg. 40,000 kg.
2. Size of the order 10,000 kg. 2,000 kg.
3. No. of orders (1 +2) 4 20
4. Cost of placing orders or Rs.9,600 Rs.48,000

Ordering cost
(No. of orders x Cost per order)

(4 order x Rs2,400)

(20 orders x Rs2,400)

5. Inventory carrying cost
(Average inventory x Carrying cost

Rs.2,40,000
(10,000 kg. x % x Rs.48)

Rs.48,000
(2,000 kg. x % x Rs.48)

per unit)
6. Total Cost (4 +5)

Rs.2,49,600 Rs.96,000

When order is placed on quarterly basis the ordering cost and carrying cost increased by Rs.1,53,600
(Rs.2,49,600 - Rs.96,000).

So, discount required = Rs.1,53,600
Total annual purchase = 40,000 kg. x Rs.180 = Rs.72,00,000. So, Percentage of discount to be negotiated

Question 8
Joy Toy Limited deals in trading of ‘superhero’ toy figure. The annual demand for the toy car is
14,400 units. The company incurs fixed order placement and transportation cost of X212 each time
an order is placed. Each toy costs X 450 and the trader has a carrying cost of 25 percent p.a. The
company has been offered a quantity discount of 8% on the purchase of ‘superhero’ toy figure
provided the order size is 5,000 units at a time.

Required:
(i) COMPUTE the economic order quantity

(ii) STATE whether the quantity discount offer can be accepted. (MTP 5 Marks March '23 & Oct 20,
Old & New SM)
Answer 8

i.Calculation of Economic Order Quantity (EOQ) = %

=233 units

_ |2 X 14,400 units XRs.212
- Rs.450 X 25%
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ii.Evaluation of Profitability of Different Options of Order Quantity

(A) When EOQ is ordered (%)
Purchase Cost (14,400 units x Rs. 450) 64,380,000
Ordering Cost [(14,400 units/233 units) x Rs. 13,102

212]
Carrying Cost (233 units x 1/2 x 450 x 25%) 13,106
Total Cost 65,06,208
(B) When Quantity Discount of 8% is accepted
X)

Purchase Cost (14,400 units x Rs. 414) 59,61,600

Ordering Cost [(14,400 units/5,000 units) x Rs212] 611

Carrying Cost (5,000 units x 1/2 x Rs.414 x 25%) 2,58,750

Total Cost 62,20,961

Advise — The total cost of inventory is lower if quantity discount is accepted. The
company would save Rs. 2,85,247 (Rs. 65,06,208 - Rs. 62,20,961).

Note: Figures may change slightly because of approximation and decimals)

Question 9
A company manufactures 10,000 units of a product per month. The cost of placing an order is 200.
The purchase price of the raw material is 20 per kg. The re-order period is 4 to 8 weeks. The
consumption of raw materials varies from 200 kg to 900 kg per week, the average consumption
being 550 kg. The carrying cost of inventory is 20% per annum.

You are required to CALCULATE:
(i) Re-order quantity (ii) Re-order level
(iii) Maximum level (iv) Minimum level

(v) Average stock level (MTP 5 Marks April 23 & March ‘21) (Same concept different
figures PYP 5 Marks Nov’18)
Answer 9

(i) Reorder Quantity (ROQ) = 1,691 kg. (Refer to working note)
(i) Reorder level (ROL) = Maximum usage x Maximum re-order period

= 900 kg. x 8 weeks = 7,200 kg.

(iii) Maximum level ROL + ROQ — (Min. usage x Min. re-order period)
= 7,200 kg. + 1,691 kg. — (200 kg.x 4 weeks)

= 8,091 kg.

(iv) Minimum level ROL — (Normal usage x Normal re-order period)

= 7,200 kg. — (550 kg. x 6 weeks)

= 3,900 kg.
(v) Average stock level =1/2 (Maximum level + Minimum level)
=% (8,091 kg. + 3,900 kg.) = 5,995.5 kg.

OR
= Minimum Level +% ROQ
=3,900 kg. + 2 X 1,691 kg. =4,745.5 kg.

Working Note
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Annual consumption of raw material (A) = (550 kg. x 52 weeks) = 28,600 kg.
Cost of placing an order (0O) =X 200

Carrying cost per kg. Per annum (c x i) =X 20 x 20% = %4

2A0

Economic order quantity (EOQ) = Cxi

_ \/2 X 28,600 kgs.X Rs.200

o4 = 1,691 kg. (Approx)

EXAMINERS' COMMENTS ON THE PERFORMANCE OF EXAMINEES:

In this question, performance of the examinees was below average. Most of the examinees
have made mistake by taking output instead of raw material consumed figure for
calculation of re order quantity.

Question 10
EXPLAIN the advantages that would accrue in using the LIFO method of pricing for the valuation
of raw material stock. (MTP 5 Marks, April’21)

Answer 10
The advantages that would accrue in using the LIFO method of pricing for the valuation of raw material
stock are as follows:

e  The cost of materials issued will be either nearer to and or will reflect the current market price. Thus,
the cost of goods produced will be related to the trend of the market price of materials. Such a trend in
price of materials enables the matching of cost of production with current sales revenues.

e  The use of the method during the period of rising prices does not reflect undue high profit in the income
statement as it was under the first-in-first-out or average method. In fact, the profit shown here is
relatively lower because the cost of production takes into account the rising trend of material prices.

e Inthe case of falling prices profit tends to rise due to lower material cost, yet the finished products appear
to be more competitive and are at market price.

e  Over a period, the use of LIFO helps to iron out the fluctuations in profits.

e Inthe period of inflation LIFO will tend to show the correct profit and thus avoid paying undue taxes to
some extent.

Question 11
The yearly production of a company's product which has a steady market is 40,000 units. Each unit
of a product requires 1 kg. of raw material. The cost of placing one order for raw material is X 1,000
and the inventory carrying cost is X 20 per annum. The lead time for procurement of raw material
is 36 days and a safety stock of 1,000 kg. of raw materials is maintained by the company. The
company has been able to negotiate the following discount structure with the raw material

supplier:
Order quantity (kg.) Discount (X)
Up to 6,000 NIL
6,001 - 8,000 4,000
8,001 - 16,000 20,000
16,001 - 30,000 32,000
30,001 - 45,000 4,0000

You are REQUIRED to:
(i) Calculate the re-order point considering 30 days in a month.

(ii) Prepare a statement showing the total cost of procurement and storage of raw material after
considering the discount of the company elects to place one, two, four or five orders in the year.
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(iii) State the number of orders which the company should place to minimize the costs after taking EOQ
also into consideration. (MTP 10 Marks, Oct ‘21)

Answer 11
(a) Working notes
1. Annual production = 40,000 units
2. Raw material required for 40,000 units (40,000 units x 1 kg.) = 40,000 kg.
3. EOQ= \/2 %X 40,000kgs.x Rs.1,000 /Rs.20 = 2,000 kgs.
4. Total cost of procurement and storage when the order size is equal to EOQ or
2,000 kg. No. of orders (40,000 kg. + 2,000 kg.) =20 times
Ordering cost (20 orders x X1,000) =% 20,000
Carrying cost (%) (%2 x 2,000 kg. x X 20) =%20,000
Total cost X 40,000
(i) Re-order point = Safety stock + Lead time consumption
= 1,000 kg. + 40,000kg.x36days
= 1,000 kg. + 4,000 kg.  =5,000 kg.
(i) statement showing the total cost of procurement and storage of raw materials
(after considering the discount)
Order No. of | Total cost of Average Total cost of | Discount Total cost
size orders | procurement stock storage of raw
materials
Kg. ) Kg. (X) (X) (X)
(1) (2) (3)=(2)xX1,000 | (4)=¥x(1) | (5)=(4)xX20 (6) (7)=[(3)+(5)- (6
40,000 1 1,000 20,000 4,00,000 40,000 3,61,000
20,000 2 2,000 10,000 2,00,000 32,000 1,70,000
10,000 4 4,000 5,000 1,00,000 20,000 84,000
8,000 5 5,000 4,000 80,000 4,000 81,000
(iii) Number of orders which the company should place to minimize the costs after taking
EOQ also into consideration is 20 orders each of size 2,000 kg. The total cost of
procurement and storage in this case comes to X 40,000, which is minimum. (Refer to
working notes 3 and 4)
Question 12

The annual demand for an item of raw material is 48,000 units and the purchase price is X 80 per
unit. The cost of processing an order is X 1,350 and the annual cost of storage is X 15 per unit.

(i) DETERMINE is the optimal order quantity and total relevant cost for the order?

(ii) If the cost of processing an order is X 800 and all other data remain same, then DETERMINE the
differential cost?

(iii) If the supplier offers bulk purchase of 48,000 units at a price of X 72 and cost of placing the is Nil,
SHOULD the order be accepted? (MTP 5 Marks Nov ’21)
Answer 12

(i) Optimal order quantity i.e. E.O.Q.
= [ - V86,40,000 = 2,939 units
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Relevant Cost of this order quantity X

Ordering cost = 48,000 / 2,939 =16.33,say 17 22,950.00
orders at X1,350

Carrying Cost=1/2 x 2,939x15 22,042.50

Relevant cost 44,992.50

2%X48,000x800

(ii) Revised EOQ = 5 = 2,263 units
Relevant Cost of this order quantity g
Ordering cost =48,000/ 2,2,63 21.21, say 22 orders at X
800 17,600.00
Carryingcost=1/2 x 2,263 x15
16,972.50
Relevant cost 34,572.50

Differential cost = 44,992.50 — 34,572.50 =X 10,420

(iii) In case of discount in purchase price, the total cost of Purchase cost, ordering cost and carrying
cost should be compared.

Original offer at X 80 per unit Supplier offered at X 72 per unit
R b
Purchase Cost (48,000 x 80) 38,40,000.00 | Purchase cost 34,56,000.00
(48,000 x 72)
Ordering cost 22,950.00 | Ordering cost 0.00
Carrying cost 22,042.50 | Carrying cost 3,60,000.00
7 x 48, 000 x
15
Total cost 38,84,992.50 38,16,000.00

This special offer at X 72 per unit should be accepted as it saves X 68,992.50 as compared to
original offer.

Question 13
M/s SE Traders is a distributor of an electronic items. A periodic inventory of electronic items on
hand is taken when books are closed at the end of each quarter. The following information is
available for the quarter ended on 30th September, 2021:

Sales X2,19,30,000
Opening Stock 12,500 units @ X 600 per unit
Administrative Expenses X 5,62,500

Purchases (including freight inward):

-July 1, 2021 25,000 units @ X 573 per unit
- September 30, 2021 12,500 units @ X 630 per unit
Closing stock- September 30, 2021 16,000 units

You are required to COMPUTE the following by WAM (Weighted Average Method), FIFO method
and LIFO method assuming issue/ consumption pattern was even throughout the quarter:

() Value of Inventory on 30th September, 2021.

(i) Profit or loss for the quarter ended 30th September, 2021. (MTP 10 Marks April ’22)
Answer 13
ggnputation of Value of Inventory as on 30th September 2021:
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Date Particulars Units WAM (X) FIFO (X) LIFO (X)
01-07-21 Opening Stock | 12,500 75,00,000 75,00,000 75,00,000
(X600x12,500) | (X600x12,500) (X600x12,500)
01-07-21 Purchases 25,000 1,43,25,000 1,43,25,000 1,43,25,000
(X573x%25,000) | (X573x25,000) (X573%25,000)
30-09-21 Purchases 12,500 78,75,000 78,75,000 78,75,000
(X630x12,500) | (X630x12,500) (X630x12,500)
01-07-21 | Issues/ 34,000 2,01,96,000*% | 1,98,19,500** | 2,01,94,500***
to Consumption
30-03-21 (Balancing
figure)
30-09-21 Closing Stock 16,000 95,04,000 98,80,500 95,05,500

Weighted average rate =

Rs.75,00,000+Rs.1,43,25,000+Rs.78,75,000

= Rs. 594

(12,500+25,000+12,500)units

* X594 x 34,000 =X 2,01,96,000
ok X600x 12,500 +X573 x 21,500 =X1,98,19,500
e X630x12,500 +X573 x 21,500 =X2,01,94,500

(ii) Computation of Profit or Loss for the Quarter ended 30th September 2021

her
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Particulars WAM (X) FIFO (X) LIFO (X)

Sales 2,19,30,000 | 2,19,30,000 2,19,30,000
Less: Consumption 2,01,96,000 1,98,19,500 2,01,94,500
Less: Administrative Exp. 5,62,500 5,62,500 5,62,500
Profit or Loss 11,71,500 15,48,000 11,73,000

Question 14

A company produces a product 'AB' by using two raw materials - 'Material Ae' and 'Material Be' in
the ratio of 5:3.

A sales volume of 50,000 kgs is estimated for the month of December by the managers expecting the
trend will continue for entire year. The ratio of input and output is 8:5.

Other Information about Raw Material Ae is as follows:

Purchase Price X150 per kg

Re-order period 2 to 3 days

Carrying Cost 12%

Note: Material Ae is perishable in nature and if not used within 3.5 days of purchase it becomes obsolete.
To place an order for material 'Ae’, the company has to incur an administrative cost of X 375 per order.
At present, material ‘Ae’ is purchased in a lot of 7,500 kgs. to avail the discount on purchase. Company
works for 25 days in a month and production is carried out evenly.

You are required to CALCULATE:

() Economic Order Quantity (EOQ) for Material Ae;

(i) Maximum stock level for Material Ae. (MTP 5 Marks Sep’22)

Answer 14

(i) Monthly production of AB = 50,000 kgs

Raw material required = 50,000/5 x 8 = 80,000 kgs Material Ae and Material Be ratio = 5:3

efo4r6%,6material Ae = 80,000/8 x 5 =50,000 kgs
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(2 x (Annual demand x cost per order)

Calculation of EOQ=\/

Annual holding cost per unit

_ |2x50,000kgsx12x 375 _
F0Q= \/ 12% of X 150 = 5,000 kgs

(ii) Calculation of maximum stock level of Material Ae which is perishable in nature and is required to be
used within 3.5 days.

(a) Stock equals to 3.5 days consumption = 50,000 kgs/ 25 days x 3.5 days = 7,000 kgs
(b) Maximum stock level for Material Ae
Maximum stock = Reorder quantity + reorder level — (minimum consumption x minimum lead time)
Where, reorder quantity = 7,500 kgs
Reorder level = maximum consumption* x maximum lead time
= 50,000/ 25 x 3 days = 6,000 kgs
Now, Maximum stock level = 7,500 kgs + 6,000 kgs — (50,000 /25 days x 2 days) = 9,500 kgs

Stock required for 3.5 days consumption is lower than the maximum stock level calculated above.
Therefore, maximum stock level will be 7,000 kgs.

(*since production is processed evenly throughout the month hence material consumption will also be
even.)

Question 15
BRIEF the treatment of following while calculating purchase cost of material: Trade Discount, Cash
Discount, Penalty, Insurance charges, Commission paid. (MTP 5 Marks Sep’22)

Answer 15
Trade Discount Trade discount is deducted from the purchase price if it is not shown as
deduction in the invoice.
Cash Discount Cash discount is not deducted from the purchase price. It is treated as
interest and finance charges. It is ignored.
Penalty Penalty of any type is not included with the cost of purchase
Insurance charges Insurance charges are paid for protecting goods during transit. It is
added with the cost of purchase.
Commission paid Commission or brokerage paid is added with the cost of purchase.
Question 16

The following are the details of receipts and issues of a material of stores in a manufacturing
company for the period of three months ending 30th June, 2022:

Receipts:
Date Quantity (kg.) Rate per kg. (%)
April 10 1,600 50.00
April 20 2,400 49.00
May 5 1,000 51.00
May 17 1,100 52.00
May 25 800 52.50
June 11 900 54.00
June 24 1,400 55.00
There was 1,500 kg. in stock at April 1, 2022 which was valued at X 48.00 per kg.
Issues:
Date Quantity (kg.)
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April 4 1,100
April 24 1,600
May 10 1,500
May 26 1,700
June 15 1,500
June 21 1,200

Issues are to be priced on the basis of weighted average method.
The stock verifier of the company reported a shortage of 80 kgs. on 31st May, 2022 and 60 kgs. on 30th

June, 2022.

You are required to PREPARE a Stores Ledger Account. (MTP 10 Marks Oct’22)

Answer 16

VIVITSU
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Stores Ledger Account for the three months ending 30th June, 2022 (Weighted Average Method)

Receipts Issues Balance
5 GRN Rates Rates| Amount Qty. Amount | Rate for further
ate o Qty. (Kg.) (Rs.) Amounts | MRNo. | Qty. (Kg.)| (Rs.) | (Rs.) (Kg) | (Rs.) Issue (Rs.)
April 1 1,500 | 72,000 48.00
April 4 1,100 48.00 | 52,800 400 19,200 48.00
99,200
April 10 1,600 50.00 80,000 2,000 | 99,200 2000 = 49.60
2,16,800
April 20 2,400 | 49.00 | 1,17,600 4,400 {216,800 [z 00 — 19-30
April 24 1,600 |[49.30| 78,880 | 2,800 |137,920 % =49.30
May 5 1,000 51.00 51,000 3,800 |188,920 % = 49.70
May 10 1,500 [49.70 | 74,550 | 2,300 |[114,370 —1’21‘;’350 =49.70
May 17 1,100 52.00 57,200 3,400 |171,570 M = 50.50
3,400
May 25 800 52.50 42,000 4,200 |[213,570 213,570 =50.90
4,200
May 26 1,700 50.90 | 86,530 | 2,500 (127,040 1'5;'330 = 50.90
May 31 Shortage 80 2,420 |127,040 1,27,040 = 5250
2,420
June 11 900 54.00 48,600 3,320 | 175,640 1';53'26::0 = 49.60
June 15 1,500 5290 | 79,350 | 1,820 | 96,290 99,200 = 5290
2,000
June 21 1,200 5290 | 63,480 | 620 32,810 326'530 = 5290
June 24 1,400 55.00 77,000 2,020 |109,810 1'3(3';3;0 =54.40
June 30 Shortage 60 1,960 |109,810 1,09810 _ 6.00
1,960
Question 17

P Limited produces product 'P'. It uses annually 60,000 units of a material 'Rex' costing * 10 per unit.

Other relevant information are:

Cost of placing an order

Carrying cost

Re-order period
Safety stock

The company operates 300 days in a year.

You are required to calculate:
Prakshal Shah | 8779794646

* 800 per order
15% per annum of average inventory

10 days
600 units
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i)  Economic Order Quantity for material 'Rex’.
i) Re-order Level.
i)  Maximum Stock Level.

ivV) Average Stock Level. (MTP 5 Marks , Oct '23)
Answer 17

. Economic Order Quantity (E.0.Q)
_ \/ZX Annual requiremnet of Rex’X Ordering cost per order

Annual Carrying cost per unit per annum

= 8,000 Units

Rs.1.5

2 X60,000 units xRs.800 _ [9,60,00,000
Rs.10 X15% -

1l Re-order Level = Safety Stock + (Normal daily Usage x Re-order period)

60,000 units

300 days X10 Days)

= 600 +
=600 + 2,000
= 2,600 units

. Maximum Stock Level = E.0.Q (Re-order Quantity) + Safety Stock
= 8,000 units + 600 units
= 8,600 units

IV.  Average Stock Level = Minimum Stock level + % Re — order Quantity
= 600* +> 8,000 units

= 4,600 units
OR

Maximum Stock level+Minimum Stock Level
2

= 4,600 units

Average Stock Level =

_ 8,600 units+600 units
- 2

* Minimum Stock Level = Re- Order Level - (Normal daily usage x Re-order period)

60,000 units

300 days X10 Days)

= 2,600 - (

=2,600 - 2,000
=600 units
OR
Minimum Stock Level = Safety Stock level = 600 units

Question 18

Arnav Electronics manufactures electronic home appliances. It follows weighted average Cost

method for inventory valuation. Following are the data of component X:

Date Particulars Units Rate per
unit (X)
15-12-19 | Purchase Order- 008 10,000 9,930
30-12-19 | Purchase Order- 009 10,000 9,780
01-01-20 | Opening stock 3,500 9,810
05-01-20 | GRN*-008 (against the Purchase Order- 008) 10,000 -
05-01-20 | MRN**-003 (against the Purchase Order- 008) 500 -
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06-01-20 | Material Requisition-011 3,000 -
07-01-20 | Purchase Order- 010 10,000 9,750
10-01-20 | Material Requisition-012 4,500 -
12-01-20 | GRN-009 (against the Purchase Order- 009) 10,000 -
12-01-20 | MRN-004 (against the Purchase Order- 009) 400 -
15-01-20 | Material Requisition-013 2,200 -
24-01-20 | Material Requisition-014 1,500 -
25-01-20 | GRN-010 (against the Purchase Order- 010) 10,000 -
28-01-20 | Material Requisition-015 4,000 -
31-01-20 | Material Requisition-016 3,200 -

*GRN- Goods Received Note; **MRN- Material Returned Note Based on the above data, you are
required to CALCULATE:

(i) Re-order level

(i) Maximum stock level

(iii) Minimumstocklevel

(iv) PREPARE Store Ledger for the period January 2020 and DETERMINE the value of stock as on 31-01- 2020.

(v) Value

of components used during the month of January, 2020.

(vi) Inventoryturnover ratio. (RTP May’20)

Answer 18

Workings:

Consumption is calculated on the basis of material requisitions:

Maximum component usage = 4,500 units (Material requisition on 10-01-20) Minimum component usage

= 1,500 units (Material requisition on 24-01-20)

Lead time is calculated from purchase order date to material received date

Maximum lead time =21 days (15-12-2019 to 05-01-2020)
Minimumleadtime=14days(30-12-2019to0 12-01-2020)

Calculations:

(i)

(if)

(iil)

iv)

Re-order level

= Maximum usage x Maximum lead time

= 4,500 units x 21 days = 94,500 units

Maximum stock level

= Re-order level + Re-order Quantity — (Min. Usage x Min. lead time)
= 94,500 units + 10,000 units — (1,500 units x 14 days)
=1,04,500 units — 21,000 units = 83,500 units
Minimum stock level

= Re-order level — (Avg. consumption x Avg. lead time)
= 94,500 units — (3,000 units x 17.5 days)

= 94,500 units — 52,500 units

=42,000 units

Store Ledger forthe month of January 2020:

2.16

Date

Receipts Issue

Balance
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GRN/ Units| Rate| Amt.| MRN/ Units]  Rate Amt. Units.  Rate| Amt.

MRN % (X ‘000) MR ¥ (X ‘000) % (X ‘000)
01-01-20 - - - - - - - - 3,500| 9,810| 34,335
05-01-20 008 10,000 9,930, 99,300 003 500 9,930 4,965 13,000 9,898 1,28,670
06-01-20 - - - - 011 3,000 9,898| 29,694| 10,000| 9,898 | 98,980
10-01-20 - - - - 012 4,500| 9,898| 44,541 5,500 9,898 | 54,439
12-01-20 009 10,000| 9,780| 97,800 004 400| 9,780 3,912 | 15,100| 9,823 |1,48,327
15-01-20 - - - - 013 2,200 9,823 21,611| 12,900| 9,823 1,26,716
24-01-20 - - - - 014 1,500| 09,823 14,734 | 11,400| 9,8231,11,982
25-01-20 010 10,000| 9,750| 97,500 - - - -| 21,400| 9,789 2,09,482
28-01-20 - - - - 015 4,000| 9,789 39,156| 17,400| 9,789 |1,70,326
31-01-20 - - - - 016| 3,200| 9,789| 31,325| 14,200 9,789 |1,39,001

Note: Decimal figures may be rounded-off to the nearest rupee value wherever required)
Value of stock as on 31-01-2020 (‘000) =X 1,39,001

(v) Value of components used during the month of January 2020:

Sum of material requisitions 011 to 016 (‘000)
=%29,694 +X44,541 +X21,611+%X14,734 +%X 39,156 +X31,325=%1,81,061

(vi)

Question 19

Inventory TurnoverRatio

_ Value of materials used

Rs.1,81,061

Average stock value

Rs.1,81,061
= =2.09

~ (1,3,001+34,335)/2 Rs.86,668

HBL Limited produces product ‘M’ which has a quarterly demand of 20,000 units. Each product
requires 3 kg. and 4 kg. of material X and Y respectively. Material X is supplied by a local supplier
and can be procured at factory stores at any time, hence, no need to keep inventory for material X.
The material Y is not locally available, it requires to be purchased from other states in a specially
designed truck container with a capacity of 10 tons. The cost and other information related with
the materials are as follows: (RTP Nov’19)

Answer 19

Particulars Material =X Material-Y|
Purchase price per kg. (excluding GST) X140 X640
Rateof GST 18% 18%
Freight per trip (fixed, irrespective of quantity) - ‘28,000
Lossof materialsintransit* - 2%
Loss in process* 4% 5%
*On purchased quantity

Other information:

- The company has to pay 15% p.a. to bank for cash credit facility.

- Input credit is available on GST paid on materials.

Required:

(i) CALCULATE cost per kg. of material Xand Y

(ii) CALCULATE the Economic Order quantity for both the materials.

Working Notes:(a) Annual purchase quantity for material X and Y:

Annual demand for product M- 20,000 units x 4 = 80,000 units

Particulars Mat-X Mat-Y
Quantity required for per unit of product M 3kg. 4 kg.
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Net quantity for materials required 2,40,000kg.|3,20,000 kg.
Add: Lossintransit 4 6,881kg.
Add:Lossinprocess 10,000kg.| 17,204kg
Purchase quantity 2,50,000 kg.| 3,44,085 kg

Note - Input credit on GST paid is available; hence, it will not be included in cost of material.

(i)

Calculation of cost per kg. of material Xand Y:

(iii)
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Question 20

Particulars Mat-X| Mat-Y
Purchase quantity 2,50,000 kg. 3,44,085 kg.
Rate per kg. 140 ‘640
Purchase price ‘3,50,00,000
22,02,14,400
Add: Freight 0 ‘9,80,000*
Total cost ‘3,50,00,000 22,11,94,400
Net Quantity 2,40,000 kg. 3,20,000 kg
Cost per kg. ‘145.83 ‘691.23
*No.oftrucks=%= 34.40 trucks or 35 trucks
Therefore, total freight = 35 trucks x ‘28,000 = ‘9,80,000
(ii) Calculation of Economic Order Quantity (EOQ) for Mat.-Xand Y:
E0Q = \/ZX Annual.Requirement O'Tder cost
Carrying cost per unit p.a

Particulars Mat-X Mat-Y

Annual Requirement 2,50,000 kg. 3,44,085 kg.

Ordering cost 0 ‘28,000

Cost per unit ‘145.83 ‘691.23

Carrying cost 15% 15%

Carrying cost per unit p.a. 0* 103.68

EOQ 0 13,632.62 kg.

Rounak Ltd. is the manufacturer of monitors for PCs. A monitor requires 4 units of Part-M. The

following are the details of its operation during 20X8:

Average monthly marketdemand

Ordering cost

Inventory carrying cost

CostofPat
Normalusage
Minimum usage
Maximum usage

Lead timeto supply
COMPUTE from the above:

2,000 Monitors

X 1,000 per order
20% per annum

X 350 per part

425 parts per week

140 parts per week

710 parts per week

3-5 weeks

EconomicOrderQuantity(EOQ).Ifthesupplieriswillingtosupplyquarterly30,000unitsofPart- M at a

discount of 5%, is it worthaccepting?

Reorder level

Maximum level of stock
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(iv) Minimum level of stock. (RTP Nov’18)
Answer 20

A= Annual usage of parts = Monthly demand for monitors x 4 parts x 12 months

= 2,000monitors x 4 parts x 12 months = 96,000 units O = Ordering cost per order =X 1,000/- per order
C1 = Cost per part =X 350/-

iC1 = Inventory carrying cost per unit per annum

=20% x X 350 = X 70/- per unit, perannum Economic order quantity (EOQ):

240 2 X 96,000 units X 1,000
EO0.Q= [—/— = .
ic1 70

= 1,656 parts (approx.)

The supplieriswilling to supply 30,000 units at a discount of 5%, therefore cost of each part shall be
X 350-5% of 350 =X 332.5

Total cost (when order size is 30,000 units):

= Cost of 96,000 units + Ordering cost + Carrying cost.

= (96,000 units x X 332.50) + (96,000 units / 30,000 units x '1,000) + 1/2 (30,000 units x 20% x X
332.50)

=%3,19,20,000+%3,200*+%9,97,500=%3,29,20,700

Total cost (when order size is 1,656 units):
=(96,000unitsxZ350)++ (96,000 units / 1,656 units X '1,000) + 1/2 (1,656 units x 20% x X 350)

=% 3,36,00,000 + X 57,970* + X 57,960 = X 3,37,15,930

Since, the total cost under the supply of 30,000 units with 5% discount is lower thanthat whenorder size is
1,656 units, therefore the offer should be accepted.

Note: While accepting this offer consideration of capital blocked on order size of 30,000 units has been
ignored.

*QOrder size can also be taken in absolute figure.
(1) Reorder level
= Maximum consumption x Maximum re-order period
=710units x5weeks=3,550 units
(2) Maximumlevelofstock
= Re-order level + Reorder quantity — (Min. usage x Min. reorder period)
= 3,550 units + 1,656 units — (140 units x 3 weeks) = 4,786 units.
(3)  Minimum level of stock
= Re-order level — Normal usage x Average reorder period
= 3,550 units — (425 units x 4 weeks) = 1,850 units.

Question 21
Aditya Brothers supplies surgical gloves to nursing homes and polyclinics in the city. These surgical
gloves are sold in pack of 10 pairs at price of X 250 per pack.

For the month of April 2018, it has been anticipated that a demand for 60,000 packs of surgical
gloves will arise. Aditya Brothers purchases these gloves from the manufacturer at X 228 per pack
within a 4 to 6 days lead time. The ordering and related cost is X 240 per order. The storage cost is
10% p.a. of average inventory investment.

Required:
(i) CALCULATE the Economic Order Quantity (EOQ)
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(i) CALCULATE the number of orders needed every year
(ili) CALCULATE the total cost of ordering and storage of the surgical gloves.

(iv) DETERMINE when should the next order to be placed. (Assuming that the company does maintain a
safety stock and that the present inventory level is 10,033 packs with a year of 360 working days). (RTP
May 18)
Answer 21

() Calculation of Economic Order Quantity:

E0Q = 2XAX0 _  |2X(60,000packs X12 months)Xx/240
N T 1228X10%

= 3,893.3 packs or 3,893 packs.
(i) Number of orders per year

Annual requirements

Annual requirements _ 7,20,000packs

=184.90r1850rders ayear
E.0.Q. 3,893 packs

(i) Ordering and storage costs

X)
Ordering costs:—185ordersxX 240 44,400.00
Storage cost:—% (3,893 packsx10% of X228) 44,380.20
Totalcostofordering & storage 88,780.20

(iv) Timing of next order

(a) Day’s requirement served by each order.
No.of working days _ 360 days

Number of day requirements = =1.94 days supply.

No.of order in a year "~ 185 orders
This implies that each order of 3,893 packs supplies for requirements of 1.94 days only.

(b) Days requirement covered by inventory

Units in inventory

= - —x (Day’s requirement served by an order)
Economic order quantity

. 10,033 packs

3,893 packs * 104 days = 5 days requirement

(c) Time interval for placing next order
Inventory left for day’s requirement — Average lead time of delivery
5days—5days=0days

This means that next order for the replenishment of supplies has to be placed immediately.

Question 22
A company uses four raw materials A, B, C and D for a particular product for which the following
data apply -
Raw Usage | Re-order| Price Delivery period (in Re- |[Minimum
Material | per unit| Quantity| per Kg. weeks) order | level
of (Kg.) (x) | Minimum| Average| Maximum| level | (Kg.)
product (Kg.)
(Kg.)
A 12 12,000 12 2 3 4 60,000 ?
B 8,000 22 5 6 7 70,000 ?
C 10,000 18 3 5 7 ? 25,500
D 9,000 20 1 2 3 ? ?
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Weekly production varies from 550 to 1,250 units, averaging 900 units of the said product. What

would be the following quantities:—
(i) Minimum Stock of A?
(i) Maximum Stock of B?
(iii) Re-order level of C?
(iv) Average stock level of A?

(v) Re-order level of D?

(vi) Minimum Stock level of D? (RTP Nov '20) (Same concept different figures MTP 5 Marks,

April ‘21, Old & New SM)
Answer 22
(i) Minimum stock of A

Re-order level — (Average consumption x Average time required to obtain delivery)

= 60,000 kg. — (900units x 12 kg. x 3 weeks) = 27,600 kg.
(ii) Maximum stock of B

Re-order level + Re-order quantity— (Min. Consumption x Min. Re-order period)
= 70,000 kg.+ 8,000 kg— (550units x8 kg.x 5 weeks).
=78,000-22,000 = 56,000 kg.
(iii) Re-order level of C
Maximum re-order period x Maximum Usage
7 weeks x (1,250units x 6 kg.) = 52,500 kg.
OR

Minimum stock of C+(Average consumption x Average delivery time)

25,500 kg.+ [(900 units x6 kg.)x5 weeks] =52,500 kg.
(iv) Average stock level of A

_ Minimum Stock+Maximum
- Stock 2

_ 27,600-2I-58,800 = 43,200 kg

(Refer to Working Note)

Working note
Maximum stock of A= ROL + ROQ — (Minimum consumption x Minimum re-order period)

= 60,000 kg. + 12,000 kg. — [(550units x 12 kg.) x 2 weeks] = 58,800 kg.
(v) Re-order level of D

Maximum re-order period x Maximum Usage

= 3 weeks x (1,250 units x 5 kg.) = 18,750 kg
(vi) Minimum stock of D

Re-order level — (Average consumption x Average time required to obtain delivery)

= 18,750 kg. — (900units x 5 kg. x 2 weeks) = 9,750 kg.

Question 23
The following data are available in respect of material X for the year ended 31st March, 2021:

(Rs.)
Opening stock 9,00,000
Purchases during the year 1,70,00,000
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Closing stock 11,00,000

(i)  CALCULATE:
(a) Inventory turnover ratio, and
(b) The number of days for which the average inventory is held.

(ii) INTERPRET the ratio calculated as above if the industry inventory turnover rate is 10. (RTP
Nov 21, Old & New SM)
Answer 23

(i)

(@) Inventory turnover ratio (Refer to working note)
_ Cost of Stock of raw material Consumed

Average stock of raw material
Rs.1,68,00,000
=———=16.8

~ Rs.10,00,.000

(b) Average number of days for which the average inventory is held

- Inventory :;rsnover ratio - 36i:.:ys =21.73 days
Working Note:

Particulars (%)
Opening stock of raw material 9,00,000
Add: Material purchases during the year 1,70,00,000
Less: Closing stock of raw material 11,00,000
1,68,00,000

(ii) The Inventory turnover ratio for material X is 16.8 which mean an inventory item takes only

21.73 or 22 days to issue from stores for production process. The rate is better than the
industry rate which is 10 time or 36.5 days. This inventory turnover ratio indicates better

inventory management system and good demand for the final product in market.

Question 24

Sky & Co., an unregistered supplier under GST, purchased material from Vye Ltd. which is
registered under GST. The following information is available for one lot of 5,000 units of material

purchased:

Listed price of one lot X 2,50,000

Trade discount @ 10% on listed price

CGST and SGST (Credit Not available) 12% (6% CGST + 6% SGST) Cash discount
@ 10%

(Will be given only if payment is made within 30 days.)

Toll Tax paid X 5,000

Freight and Insurance X 17,000

Demurrage paid to transporter X5,000

Commission and brokerage on purchases 10,000 Amount deposited for returnable

containers X 30,000 Amount of refund on returning

the container X 20,000

Other Expenses @ 2% of total cost

20% of material shortage is due to normal reasons.

The payment to the supplier was made within 21 days of the purchases. You are required to
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concept different figures MTP 5 Marks March 22 & Sep ‘23)

Answer 24

Calculation of cost per unit:

Q
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Particulars Units (X)
Listed Price of Materials 5,000 2,50,000
Less: Trade discount @ 10% on invoice price (25,000)
2,25,000
Add: CGST @ 6% of X 2,25,000 13,500
Add: SGST @ 6% of X 2,25,000 13,500
2,52,000
Add: Toll Tax 5,000
Freight and Insurance 17,000
Commission and Brokerage Paid 10,000
Add: Cost of returnable containers:

Amount deposited <30,000
Less: Amount refunded X 20,000 10,000
2,94,000
IAdd: Other Expenses @ 2% of Total Cost? (m XZ) 6,000
Total cost of material 3,00,000
Less: Shortage material due to normal reasons @ 20% 1,000 -
Total cost of material of good units 4,000 3,00,000
Cost per unit (X 3,00,000/4,000 units) 75

Note:

GST is payable on net price i.e., listed price less discount.

Cash discount is treated as interest and finance charges; hence it is ignored.

3. Demurrage is penalty imposed by the transporter for delay in uploading or off -loading of materials. It

is an abnormal cost and not included.

4. Shortage due to normal reasons should not be deducted from cost to ascertain total cost of good units.

Question 25

M/s Tanishka Materials Private Limited produces a product which names “ESS”. The consumption
of raw material for the production of “ESS” is 210 Kgs to 350 Kgs per week. Other information is as

follows:
Procurement Time:
Purchase price of Raw Materials:
Ordering Cost per Order:
Storage Cost:
365 days a year.
You are required to CALCULATE:
(@) Economic Order Quantity
(b) Re-Order Level (ROL)
Prakshal Shah | 8779794646

5 to 9 Days
X 100 per kg
X200

1% per month plus X 2 per unit per annum Consider
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() Maximum Stock Level

(d) Minimum Stock Level

(e) Average Stock Level

(f) Number of Orders to be placed per year

(g) Total Inventory Cost

(h) 1f the supplier is willing to offer 1% discount on purchase of total annual quantity in two orders, whether

offer is acceptable?

(i) If the Answer is no, what should be the counteroffer w.r.t. percentage of discount? ( RTP Nov’22)

Answer 25

(a)

(b)

(c)

(d)

(f)

()

As procurement time is given in days, consumption should also be calculated in days:
. . 350
Maximum Consumption per Day: — = 50 kgs

Minimum Consumption per Day? =30 kgs

Average Consumption per Day(SO;BO) =40kgs

Calculation of Economic Order Quantity (EOQ)
Annual consumption of Raw Materials (A): 40 Kgs x 365 days = 14,600 Kgs Storage or Carrying Cost per unit

per annum (C):(X 100 x 1% x 12 months) +X2=X 14
Ordering Cost (O): X 200 per Order

EOQ ’ZXZlXO

2X14,600x200
14

= 646 Kgs.

Re-Order Level (ROL) = (Maximum consumption Rate x Maximum Procurement Time)

50 kgs per day x 9 days

450 kgs

Maximum Stock Level =Recorder Level + Recorder Quantity — (Minimum
Consumption Rate x Minimum Procurement Time)
= 450 kgs + 646 kgs - (30 kgs X 5 days) = 946 kgs
Minimum Stock Level = Recorder Level — (Average consumption Rate x
Average Procurement Time)
= 450 kgs — (40 kgs X 7 days) = 170 kgs

Maximum Stock Level + Minimum Stock Level
2

Average Stock Level =

=946 kgs ; 170 kgs -558 kgs
Number of Orders to be placed per year

_Annual Consumption of Raw Materials
B EO0Q

_14600kgs =22.60 Orders or 23 Orders
646kgs

Total Inventory Cost
Cost of Materials (A x Purchase Price) (14600 kgs x X 100)=X 14,60,000
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Total Ordering Cost (No. of Orders x O) (23 Orders x 200) =X 4,600
Total Carrying Cost (EOQ /2 x C) (646 kgs / 2 x X 14)=%4,522
Total Inventory Cost =X 14,69,122

(h) If the supplier is willing to offer 1% discount on purchase of total annual quantity in two orders:

Offer Price | =% 100 x 99% =% 99
Revised Carrying Cost = (99 x 1% x 12 months) + X2 =%13.88
Revised Order Quantity = 14600 kgs / 2 Orders = 7300 kgs

Total Inventory Cost at Offer Price

Cost of Materials (A x Purchase Price) (14600 kgs x X 99) =X 14,45,400

Total Ordering Cost (No. of Orders x O) (2 Orders x 200) = X400
Total Carrying Cost (EOQ /2 x C) (7300 kgs / 2 x X13.88) = X50,662
Total Inventory Cost X 14,96,462

Advice: As total inventory cost at offer price is X 27,340 (14,96,462 — 14,69,122) higher, offer should not
be accepted.

() Counter-offer:

Let Discount Rate =1z%

Counter-Offer Price =X100-2%=%X100-z

Revised Carrying Cost = [(R 100 —z) x 1% x 12 months] +X2=%12-0.12z+X2=%14-0.122

Total Inventory Cost at Counter-Offer Price

Cost of Materials (A x Purchase Price) [14600 kgs x (X 100 —z)] =X 14,60,000 — 14,600z

Total Ordering Cost (No. of Orders x O) (2 Orders x 200) = X 400

Total Carrying Cost (EOQ /2 x C) [7300 kgs / 2 x (X 14 —0.12z)] =X 51,100 — 438z Total Inventory Cost
% 15,11,500 — 15038z

X14,69,122 =X15,11,500 — 15038z Or 15038z = 42,378

Or
z =282

Therefore, discount should be at least 2.82% in offer price.

Question 26
Following details are related to a manufacturing concern:
Re-order Level 1,60,000 units
Economic Order Quality 90,000
Minimum Stock Level 1,00,000 units
Maximum Stock Level 1,90,000 units
Average Lead Time 6 days
Difference between minimum lead time and Maximum lead 4 days
time
Calculate:
()  Maximum consumption per day
(i) Minimum consumption per day (Nov ’23)
Answer 26
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Difference between Minimum lead time Maximum lead time
= 4 days Max. lead time — Min. lead time = 4 days
Or, Max. lead time = Min. lead time + 4 dayS.....ccceceeveereeeerececre e, (i)

Average lead time is given as 6 days i.e.

Max.leadtime+Min.lead time
2

=6 DAYS e (1)

Putting the value of (i) in (ii),

Min.lead time+4 Days+Min.lead Time
2

= 6 Days
Or, Min. lead time + 4 days + Min. lead time =12 days
Or, 2 Min. lead time =8 days

d

Or, Minimum lead time =% =4 Days

Putting this Minimum lead time value in (i), we get
Maximum lead time = 4 days + 4 days = 8 days
() Maximum consumption per day:
Re-order level = Max. Re-order period x Maximum Consumption per day 1,60,000 units

= 8 days x Maximum Consumption per day

1,60,000 units

Or, Maximum Consumption per day = 8 days

= 20,000 units

(i) Minimum Consumption per day:
Maximum Stock Level =

Re-order level + Re-order Quantity — (Min. lead time x Min. Consumption per day) Or,
1,90,000 units = 1,60,000 units + 90,000 units — (4 days x Min. Consumption per day) Or, 4
days x Min. Consumption per day = 2,50,000 units — 1,90,000 units

60,000 units

Or, Minimum Consumption per day = — ==

= 15,000 units

Question 27
Define Inventory Control and give its objectives.
List down the basis to be adopted for Inventory Control. (PYP Nov’19, 5 Marks)
Answer 27
Inventory Control: The Chartered Institute of Management Accountants (CIMA) defines Inventory

Control as “The function of ensuring that sufficient goods are retained in stock to meet all requirements
without carrying unnecessarily large stocks.”

The objective of inventory control is to make a balance between sufficient stock and over - stock. The stock
maintained should be sufficient to meet the production requirements so that uninterrupted production
flow can be maintained. Insufficient stock not only pause the production but also cause a loss of revenue
and goodwill. On the other hand, Inventory requires some funds for purchase, storage, maintenance of
materials with a risk of obsolescence, pilferage etc. A trade-off between Stock-out and Over-stocking is
required. The management may employ various methods of Inventory control to have a balance.
Management may adopt the following basis for Inventory control:
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[ Inventory Control |

By Setting On the basis Using Ratio Physical Control
Quantitative of Relative Analvsis
Classification

EXAMINERS' COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This was a numerical question relating to the topic ‘Material cost’ to calculate EOQ and Total
Inventory cost. Performance of the examinees was good.

Question 28
Surekha Limited Produces 4000 Litres of paints on a quarterly basis. Each Litre requires 2 kg of raw

material. The cost of placing one order for raw material isRs. 40 and the purchasing price of raw
material is Rs. 50 per kg. The storage cost and interest cost is 2% and 6% per annum respectively.
The lead time for procurement of raw material is 15 days. Calculate Economic Order Quantity and
Total Annual Inventory Cost in respect of the above raw material. (PYP Nov’19,5 Marks)

Answer 28
Working:
Calculation of Annual demand of raw material

=4,000 Litres (perquarter) x4 (No.of Quarterinayear)x2kg. (rawmaterial requiredforeach Litre of paint) =
32,000 kg.

Calculation of Carrying cost

Storagerate = 2%

InterestRate = 6%

Total = 8% per annum
Carryingcostperunitperannum = 8% of Rs.50 = Rs. 4 per unit perannum

2 X Annual demand(A) x Ordering Cost per order(0)
Carrying Cost per unit per annum(C)

2x32,000kg.xr40

(i) EOQ = ” =800 Kg
(i) Total Annual InventoryCost
Purchasing cost 0of32,000kg @Rs.50per kg = Rs. 16,00,000
Ordering Cost (32'000kg X Rs. 40) = Rs.1,600
800kg
. 15 days
Carrying Cost of Inventory(30 days x 800 kg X Rs.40 = Rs. 1,600

Rs. 16,03,200

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This was a theoretical question based on Inventory Control. Below Average performance
was observed by the examinees.
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Question 29
The following are the details of receipt and issue of material ‘CXE’ in a manufacturing Co. during
the month of April 2019:

Date Particulars Quantity (kg) Rate per kg
April 4 Purchase 3,000 X16
April8 Issue 1,000
Aprill5 Purchase 1,500 318
April 20 Issue 1,200
April 25 Return to supplier out of purchase made on April 15 300
April 26 Issue 1,000
April 28 Purchase 500 X17

Opening stock as on 01-04-2019 is 1,000 kg @Rs. 15 per kg.
On 30th April, 2019 it was found that 50 kg of material ‘CXE’ was fraudulently misappropriated by the
store assistant and never recovered by the Company.
Required:
(i) Prepare a store ledger account under each of the following method of pricing the issue:
(a) Weighted Average Method
(b) LIFO
(ii) What would be the value of material consumed and value of closing stock as on 30-04-2019
as per these two methods? (PYP May ‘19, 10 Marks)

Answer 29
(i) (a)Stores Ledger Account for the month of April, 2019 (Weighted Average Method)

Receipt Issue Balance
1-4-19 _ _ _ _ _ _ 1,000 15.00 15,000
4-4-19 3,000 16.00| 48,000 _ _ _ 4,000 15.75 63,000
8-4-19 _ _ _ 1,000 | 15.75| 15,750 3,000 15.75| 47,250
15-4-19 1,500 18.00| 27,000 _ _ _ 4,500 16.50 | 74,250
20-4-19 _ _ _ 1,200 | 16.50| 19,800 3,300 16.50 | 54,450
25-4-19 _ _ _ 300 | 18.00 5,400 3,000 16.35| 49,050
26-4-19 _ _ _ 1,000 | 16.35| 16,350 2,000 16.35 32,700
28-4-19 500 17.00 8,500 _ _ _ 2,500 16.48 | 41,200
30-4-19 _ _ _ 50 | 16.48 824 2,450 16.48 | 40,376

(b) Stores Ledger Account for the month of April, 2019 (LIFO)

Date Qty Units Rate | Amount Qty | Units Rate| Amount | Qty Units Rate | Amount
(‘) (‘) (‘) (‘) (‘) (')
1-4-19 _ _ _ _ _ _ 1,000 15| 15,000
4-4-19 3,000 16| 48,000 _ _ _ 1,000 15 15000
3,000 16| 48,000
8-4-19 _ _ _ 11,000 16| 16,000 1,000 15 15,000
2,000 16 32,000
15-4-19 1,500 18| 27,000 _ _ _ 1,000 15 15,000
2,000 16 32,000
1,500 18 27,000
20-4-19 _ _ _ 1,200 18| 21,600 1,000 15 15,000
2,000 16 32,000
300 18 5,400
25-4-19 _ _ _ 300 18 5,400 1,000 15 15,000
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2,000 16| 32,000

26-4-19 _ _ B 1,000 16| 16,000 1,000 15| 15,000

1,000 16| 16,000

28-4-19 500 17 8,500 _ B B 1,000 15| 15,000

1,000 16| 16,000

500 17 8,500

30-4-19 _ _ _ 50 17 850 1,000 15 15,000

1,000 16| 16,000

450 17 7,650

(ii) Value of Material Consumed and Closing Stock

Opening stock as on 01-04-2019 Weighted Average method (X ) LIFO method(X)
15,000 15,000
Add: Purchases 83,500 83,500
98,500 98,500
Less: Return to supplier 5,400 5,400
Less: Abnormal loss 824 850
Less:ClosingStockason30-04-2019 40,376 38,650
Value of Material Consumed 51,900 53,600

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

In this numerical question to ‘Material’ students were asked to prepare Store ledger
account under Weighted Average method and LIFO method. Only few numbers of students
attempted this question correctly.

Question 30

M/s. X Private Limited is manufacturing a special product which requires a component "SKY BLUE".
The following particulars are available for the year ended 31st March, 2018:

Annual demand of "SKY BLUE" 12000 Units Cost of placing an order X1,800
Cost per unit of "SKY BLUE X640
Carrying cost per annum 18.75%

The company has been offered a quantity discount of 5 on the purchases of "SKY BLUE" provided the
order size is 3000 components at a time.
You are required to:

() Compute the Economic Order Quantity.

(ii)  Advise whetherthe quantity discount offer canbe accepted. (PYP May ‘18, 5 Marks)

Answer 30

Calculation of Economic Order Quantity

,ZAO 2x12,000 units xRs.1,800 .
EOQ = - - \/ = 600 units

Rs.640 x18.75 /100

(ii) Evaluation of Profitability of Different Options of Order Quantity

When EOQ is ordered (X)

Purchase Cost (12,000 units x Rs. 640) 76,80,000
Ordering Cost [A/Q x O - (12,000 units/ 600 units) x Rs. 1,800] 36,000
Carrying Cost (Q/2 x Cxi-600 units x Rs. 640 x % x 18.75/100) 36,000
Total Cost 77,52,000
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When Quantity Discount is accepted

()

Purchase Cost (12,000 units X * 608) 72,96,000
_ (12,000 units/3,000 units) X * 1,800] 7,200

Ordering Cost

[2 X0

Q

Carrying Cost (3,000 units X * 608 X% X 18.75/100)] 1,71,000
Excxi

2
Total Cost 74,74,200

Advise — The total cost of inventory is higher if EOQ is adopted. If M/s. X Private Limitedgetsadiscount
of 5% on the purchases of “SKY BLUE” (if order size is 3,000 components at a time), there will be financial
benefit of * 2,77,800 (77,52,000 - 74,74,200). However, order size of big quantity will increase volume
of average inventory to 5 times. There may be risk of shrinkage, pilferage and obsolescence etc., of
inventory due to increase in the average volume of inventory holding. This aspect also has to be taken
into consideration before opting the discount offer and taking final decision.

Question 31
Explain ‘Just In Time’ (JIT) approach of inventory management. (PYP May ‘18, 5 Marks)
Answer 31

Just in Time (JIT) Inventory Management
JIT is a system of inventory management with an approach to have a zero inventories in stores. According
to this approach material should only be purchased when it is actually required for production.
JIT is based on two principles
(i)  Produce goods only when it is required and
(i)  the products should be delivered to customers at the time only when theywant.

Itis also known as ‘Demand pull’ or ‘Pull through’ system of production. In this system, production process
actually starts after the order for the products is received. Based on the demand, production processstarts
and the requirement for raw materials is sent to the purchase department for purchase. This can be
understood with the help of the following diagram:

Production Materail Order for

Demand for starts to Requirement raw ggﬁﬂ:‘eé
final process the is sent to materials material for
product demad for Purchase sentto mdixciion
product department supplier P
Question 32
Explain: FIFO and LIFO method of stores issue. (PYP May ‘18, 2 Marks)
Answer 32

First-in First-out (FIFO) method: It is a method of pricing the issues of materials, in the order in which
they are purchased. In other words, the materials are issued in the order in which they arrive in the
store or the items longest in stock are issued first. Thus each issue of material only recovers the
purchase price which does not reflect the current market price. This method is considered suitable in
times of falling price because the material cost charged to production will be high while the
replacement cost of materials will be low.

Last-in-First-out (LIFO) method: It is a method of pricing the issues of materials. This method is based

on the assumption that the items of the last batch (lot) purchased are the first to be issued. Therefore,
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under this method the prices of the last batch (lot) are used for pricing the issues, until it is exhausted,
and so on. If however, the quantity of issue is more than the quantity of the latest lot than earlier (lot)
and its price will also be taken into consideration. During inflationary period or period of rising prices,
the use of LIFO would help to ensure that the cost of production determined on the above basis is
approximately the current one.

Question 33
Explain obsolescence and circumstances under which materials become obsolete. State the steps
to be taken for its treatment. (PYP Nov ‘18, 5 Marks)

Answer 33

Obsolescence: Obsolescence is defined as “the loss in the intrinsic value of an asset due to its
supersession”.

Materials may become obsolete under any of the following circumstances:

(i)  whereitisaspare part, or a component of a machinery used in manufacture and that machinery becomes
obsolete;

(ii)  where it is used in the manufacture of a product which has become obsolete;
(iii) where the material itself is replaced by another material due to either improved quality or fall in price.

Treatment: In all three cases, the value of the obsolete material held in stock is a total loss and immediate
steps should be taken to dispose it off at the best available price. The loss arising out of obsolete materials
on abnormal loss does not form part of the cost of manufacture.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This was a theoretical question on obsolescence of material. Below average performance

was observed.

Question 34
An automobile company purchases 27,000 spare parts for its annual requirements. The cost per
order is X 240 and the annual carrying cost of average inventory is 12.5%. Each spare part costs X
50. At present, the order size is 3,000 spare parts. (Assume that number of days in a year = 360
days) Find out:
(i) How much the company's cost would be saved by opting EOQ model?

(ii) The Re-order point under EOQ model if lead time is 12 days.

(iii) How frequently should orders for procurement be placed under EOQ model? (PYP 10 Marks
Nov 20)
Answer 34

Working Notes:

Annual requirement (A) = 27,000 units
Cost per order (O) =X 240
Inventory carrying cost (i) =12.5%
Cost per unit of spare (c) =X50
Carrying cost per unit (i x c) =%X50x12.5% =% 6.25
Economic Order Quantity (EOQ) = \/ZZ‘IZO = \/2X27222X240 = 1440 Units
(i) Calculation of saving by opting EOQ:
Existing Order policy EOQ Model
No. of orders 9 18.75or 19
(27,000) <27,000>
3,000 1,440
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A. Ordering Cost (X) 2,160 4,500
(X240 x9) R 240 27,000
. X

{ s ( 1,440 )}

B. Carrying cost (X) 9,375 4,500
3,000 X Rs. 6.25 <1, 440 X Rs.6. 25)

( ) 2
2
Total cost (A+B) () 11,535 9,000

Question 35

Savings of Cost by opting EOQ Model =X 11,535 -%9,000 =% 2,535

(ii) Re-order point under EOQ;:

Re-order point/ Re-order level = Maximum consumption x Maximum lead time

Consumption per day =

27,000 units
360 days

=75 units

Re-order point/ Re-order level = 75 units x 12 days = 900 units

(iii) Frequency of Orders (in days):

360 days

_360days

No.of orders a year - 19

= 18.95 days or 19 days

State how the following items are treated in arriving at the value of cost of material purchased:
(i) Detention Charges/Fines

(i) Demurrage

(iii) Cost of Returnable containers

(iv) Central Goods and Service Tax (CGST)

(v) Shortage due to abnormal reasons. (PYP 5 Marks Jan 21)

Answer 35
Treatment of items in arriving at the value of cost of material Purchased
S. No. Items Treatment

(i) Detention charges/ Fine | Detention charges/ fines imposed for non- compliance of
rule or law by any statutory authority. It is an abnormal cost
and not included with cost of purchase.

(ii) Demurrage Demurrage is a penalty imposed by the transporter for
delay in uploading or offloading of materials. It is an
abnormal cost and not included with cost of purchase.

(iii) Cost of returnable Treatment of cost of returnable containers are as follows:

containers
Returnable Containers: If the containers are returned and
their costs are refunded, then cost of
containers should not be considered in the cost of purchase.
If the amount of refund on returning the container is less
than the amount paid, then, only the short fall is added
with the cost of purchase.

(iv) Central Goods and Central Goods and Service Tax (CGST) is paid on
Service Tax (CGST) manufacture and supply of goods and collected from the
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buyer. It is excluded from the cost of purchase if the input
credit is available for
specifically CGST is not added with the cost of purchase.

the

same.

Unless mentioned

Shortage arises due to abnormal reasons such as material
mishandling, pilferage, or due to any avoidable reasons are
not absorbed by the good units. Losses due to abnormal
reasons are debited to costing profit and loss account.

(v) Shortage due to
abnormal reasons
Question 36
MM Ltd. has provided the following information about the items in its inventory.
Item Code Number Units Unit Cost ()
101 25 50
102 300 01
103 50 80
104 75 08
105 225 02
106 75 12

MM Ltd. has adopted the policy of classifying the items constituting 15% or above of Total Inventory
Cost as 'A' category, items constituting 6% or less of Total Inventory Cost as 'C' category and the
remaining items as 'B' category.

You are requi
(i)
(ii)

red to:

MM Ltd. (PYP 5 Marks July 21)

Rank the items on the basis of % of Total Inventory Cost.

Classify the items into A, B and C categories as per ABC Analysis of Inventory Control adopted by

Answer 36
(i) Statement of Total Inventory Cost and Ranking of items
Item Units | % of Total Unit Total Inventory % of Total Ranking
code no. units cost cost (X) Inventory cost
(X)
101 25 3.33 50 1,250 16.67 2
102 300 40.00 1 300 4.00 6
103 50 6.67 80 4,000 53.33 1
104 75 10.00 600 8.00 4
105 225 30.00 2 450 6.00 5
106 75 10.00 12 900 12.00 3
750 100 153 7,500 100
(ii) Classifying items as per ABC Analysis of Inventory Control
Basis for ABC Classification as % of Total Inventory Cost
15% & above -- ‘A’ items
7% to 14% -- ‘B’ items
6% & Less -- ‘C'items
Ranking Item code | % of Total | Total Inventory % of Total Category
No. units cost (X) Inventory Cost
103 6.67 4,000 53.33
2 101 3.33 1,250 16.67
Total 2 10.00 5,250 70.00 A
3 106 10.00 900 12.00
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4 104 10.00 600 8.00

Total 2 20.00 1,500 20.00 B
5 105 30.00 450 6.00
102 40.00 300 4.00

Total 2 70.00 750 10.00 C
Grand Total 6 100 7,500 100

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

It was a practical problem on inventory control for assigning ranks based on inventory cost
percentage. The second part was related to ABC classification by following the criteria
given in the question. Most of the examinees answered in the correct line. Above average
performance was observed.

Question 37
Werite a short note on VED analysis of Inventory Control. (PYP 5 Marks July ‘21)
Answer 37

(i)

(i)

(iii)

Vital, Essential and Desirable (VED): Under this system of inventory analysis, inventories are classified
on the basis of its criticality for the production function and final product. Generally, this classification
is done for spare parts which are used for production.

Vital- Items are classified as vital when its unavailability can interrupt the production process and
cause a production loss. Items under this category are strictly controlled by setting re-order level.

Essential- Items under this category are essential but not vital. The unavailability may cause sub
standardization and loss of efficiency in production process. Items under this category are reviewed
periodically and get the second priority.

Desirable- Items under this category are optional in nature; unavailability does not cause any

production or efficiency loss.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

It was a theoretical question requiring examinees to write a short note on the concept of
VED analysis of Inventory Control. Performance of the examinees was below average.

Question 38

(i)
(ii)

The following details are provided by M/s. SKU Enterprises for the year ended 31st March, 2018:

Particulars

Material-M (X)

Material-N ()

Stock as on 01-04-2017
Stock as on 31-03-2018

Purchases during the year

6,00,000
4,50,000
9,50,000

10,00,000
7,25,000
18,40,000

You are required to:

Answer 38

Prakshal Shah

Calculate Turnover Ratio of both the materials.

Advise which of the two materials is fast moving. (Assume 360 days in a year). (PYP 5 Marks May
‘18) (Same concept different figures PYP Dec’21 5 Marks)

Material M

Material N

Turnover ratio

Turnover ratio

_ Cost of stock of raw material consumed / | _Cost

Average stock of raw material

of stock of raw material consumed /

Average stock of raw material
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_ X10,00,000 + X18,40,000 -X7,25,000. /
(10,00,000+ 7,25,000) / 2=2.45

= %6,00,000 + %9,50,000 -%4,50,000 /
(6,00,000+ 4,50,000) /2 =2.09

Average number of days for which the
average inventory is held

Average number of days for which the average
inventory is held

360 / Inventory turnover ratio 360 / Inventory turnover ratio

_ 360 days /2.09 =172.25 days _ 360 days/ 2.45 =146.94 days

(ii) Advice

Comparatively Material M is slower than Material N since Inventory holding period of ‘M’is172.25days
in Comparisonto‘N’i.e. 146.94 days. Infact, bothmaterials have slow inventory turnover. Though, different
business has their own expected rates for inventory turnover like food shops have fast inventory
turnover, shop selling furniture etc. will have slower inventory turnover while manufacturers of
large items of plant will have very long inventory turnover. If it is not as per the Industry Standard,
then a slow turnover may indicate that excessive inventory is held and risk of obsolete or spoiled
inventory will increase. Large quantity of slow moving material means that capital is locked up in
business and not earning revenue. It is advisable to make proper investigations into slow moving
materials and take steps to minimize the loss arises therefrom as it may impact overall financial
health of the organisation.

Question 39

What is Bill of Material? Describe the uses of Bill of Material in following departments:
(i) Purchases Department
(ii) Production Department
(iii) Stores Department

(iv) Cost/Accounting Department (PYP 5 Marks Dec ‘21)

Answer 39

Bill of Material: It is a detailed list specifying the standard quantities and qualities of materials and
components required for producing a product or carrying out of any job.

Uses of Bill of Material in different department:

Purchase Production Stores Cost/ Accounting
Department Department Department Department
Materials are Production is planned Itis used as a It is used to estimate cost
procured according to the nature, reference document |and profit. Any purchase,
(purchased) on volume of the materials while issuing materials | issue and usage are
the basis  of required to be used. to the requisitioning compared/ verified
specifications Accordingly, material department. against this document.
mentioned in it. | requisition lists are
prepared.

EXAMINERS’ COMMENTS ON THE PERFORMANCE OF EXAMINEES:

This theory question on Bill of Material was not answered in the correct line. Most of the students
had written the concept of invoicing of material instead of bill of material. Performance of the
examinees was poor.

Question 40
A Limited a toy company purchases its requirement of raw material from S Limited at X 120 per kg.
The company incurs a handling cost of X 400 plus freight of X 350 per order. The incremental
carrying cost of inventory of raw material is X 0.25 per kg per month. In addition the cost of working
capital finance on the investment in inventory of raw material is X 15 per kg per annum. The annual
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() Calculate the Economic Order Quantity (EOQ) of raw materials.

(ii) Advise, how frequently company should order to minimize its procurement cost. Assume 360 days
in a year.
(iii) Calculate the total ordering cost and total inventory carrying cost per annum as per EOQ. (PYP 5
Marks May’22)

Answer 40

Annual requirement of raw material in kg. (A) =

60,000 units

5 units per kg =12,000 kg.

Ordering Cost (Handling & freight cost) (O) =X400+X350=X750

Carrying cost per unit per annum i.e. inventory carrying cost + working capital cost (c x i)

= (X 0.25 x 12 months) + X15 =X 18 per kg

i) EO O\=\/2><12,000kgsx

750

18

=10

00 kg.

(i) Frequency of orders for procurement:

Annual consumption (A)= 12,000 kg.

Quantity per order (EOQ) = 1,000 kg.

No. of orders per annum

A

_ 12,000kg

—=- =12
E0Ql ~ 1,000kg
. . 12 months
Frequency of placing orders (in months) = Zorders = 1 months
. _ 360days _
Or, (in days) = PEy— 30 days

(iii) Calculation of total ordering cost and total inventory carrying cost as per EOQ:

Amount/Quantity
Size of the order 1,000 kg.
No. of orders 12

Cost of placing orders

9,000 (12 orders x X 750)

Inventory carrying cost

% 9,000 (1,000 kg. x % x X 18)

Total Cost

X18,000

Question 41

Werite down the treatment of following items associated with purchase of materials.

(i) Cash discount
(i) 1GST

(i) Demurrage

(iv) Shortage

(v) Basic Custom Duty (PYP 5 Marks May’22)

Answer 41

Treatment of items associated with purchase of materials is tabulated as below

2.36

S.
No.

Items

Treatment

(i)

Cash Discount

o

Cash discount is not deducted from the purchase price. It is treated
as interest and finance charges. It is ignored.
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(i)

Integrated Goods and
Service Tax (IGST)

Integrated Goods and Service Tax (IGST) is paid on inter- state
supply of goods and provision of services and collected from the
buyers. It is excluded from the cost of purchase if credit for the
same is available. Unless mentioned specifically it should not form
part of cost of purchase.

(iii)  |Demurrage Demurrage is a penalty imposed by the transporter for delay in
uploading or offloading of materials. It is an abnormal cost and not
included with cost of purchase

(iv)  |Shortage Shortage in materials are treated as follows:

Shortage due to normal reasons: Good units absorb the cost of
shortage due to normal reasons. Losses due to breaking of bulk,
evaporation, or due to any unavoidable conditions etc. are the
reasons of normal loss.

Shortage due to abnormal reasons: Shortage arises due to abnormal
reasons such as material mishandling, pilferage, or due to any
avoidable reasons are not absorbed by the good units. Losses due
to abnormal reasons are debited to costing profit and loss account.

(v)

Basic Custom Duty

Basic Custom duty is paid on import of goods from outside India. It
is added with the purchase cost.

Question 42

MM Ltd. uses 7500 valves per month which is purchased at a price of X 1.50 per unit. The carrying
cost is estimated to be 20% of average inventory investment on an annual basis. The cost to place
an order and getting the delivery is X 15. It takes a period of 1.5 months to receive a delivery from
the date of placing an order and a safety stock of 3200 valves is desired.

You are required to determine:

Answer 42

(i)

() The Economic Order Quantity (EOQ) and the frequency of orders.

(i) The re-order point.

(iii) The Economic Order Quantity (EOQ) if the valve cost X 4.50 each instead of 1.50 each.

(Assume a year consists of 360 days) (PYP 5 Marks Nov 22)

Calculation of Economic Order Quantity

Annual requirement (A)

= 7500x12= 90,000 Valves

Cost per order (O) =X 15
Inventory carrying cost (i) =20%
Cost per unit of spare (c) =X15

Carrying cost per unit (ixc) =%1.5x20% =%0.30

Economic Order Quantity (EOQ) = -

2 XAX0

LXc

fz><9o,000><15
=00z - 3,000 Valves

Frequency of order or Number of Orders = 90,000/3,000 = 30 orders.
So Order can be placed in every 12 (360days/30) days

(i) Re-order Quantity = {Maximum Consumption X Maximum lead time} + safety Stock

= {7500X1.5} + 3200 = 14,450 Valves

(iii) Calculation of Economic Order Quantity if valve costs X 4.50

Carrying cost is 20% of X 4.50 =X 0.90
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2 XAX0

LXC

Economic Order Quantity (EOQ) =

_[2x90,000%15
B 0.9

=1732.0508 units or 1733 Valves

Question 43
Which system of inventory management is known as 'Demand pull' or 'Pull through' system of
production? Explain. Also, specify the two principles on which this system is based. (PYP 5 Marks
Nov 22)
Answer 43
Just in Time (JIT) Inventory Management is also known as ‘Demand pull’ or ‘Pull through’ system of
production. In this system, production process actually starts after the order for the products is
received. Based on the demand, production process starts and the requirement for raw materials is
sent to the purchase department for purchase.
It is a system of inventory management with an approach to have a zero inventories in stores.
According to this approach material should only be purchased when it is actually required for
production.
JIT is based on two principles
()  Produce goods only when it is required and
(i) the products should be delivered to customers at the time only when they want.

Question 44
The following information pertains to ZB Limited for the year:

Profit volume ratio 30%

Margin of Safety (as % of total sales 25%
Fixed cost *12,60,000

You are required to calculate:
(i) Break even sales value (°).

(ii) Total sales value (°) at present,

(iii) Proposed sales value () if company wants to earn the present profit after reduction of 10% in
fixed cost,

(iv) Sales in value (°) to be made to earn a profit of 20% on sales assuming fixed cost remains
unchanged,

(v) New Margin of Safety if the sales value at present as computed in (ii) decreased by

12.5%. (PYP 5 Marks, May ‘23)
Answer 44

i)  Calculation of Break-even sales in value:

Fixed Cost + P/V Ratio

*12,60,000 + 30% = " 42,00,000
ii) Calculation of Total Sales value:
Sales value (S) = Break-even Sales + Margin of Safety
Or, S=42,00,000 +0.25 S
Or, 0.75 S =42,00,000
Or, S=42,00,000 + 0.75
Or, Sales = " 56,00,000
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iii) Calculation of proposed sales value to earn present profit:

Present profit = Sales — Variable cost — Fixed Cost

*56,00,000 - 70% of 56,00,000 — " 12,60,000
*56,00,000 - " 39,20,000 - " 12,60,000

" 4,20,000

Proposed Sales value (S) = 0.7S + (90% of * 12,60,000) + 4,20,000
S=0.7S +11,34,000 + 4,20,000
S =15,54,000 + 0.3 =" 51,80,000

iv) Calculation of sales value to earn 20% on sales:
Sales Value (S) =0.7 S+ 12,60,000 + 0.2S
$=12,60,0000 +0.10 =" 1,26,00,000

v) New Margin of Safety:
= (Sales — BES) + Sales
= (87.5% of 56,00,000 — 42,00,000) + (87.5% of 56,00,000)
= (49,00,000 — 42,00,000) + 49,00,000 = 7,00,000 +
49,00,000 = 14.29%
Or
= (Sales — BES)
= (87.5% of 56,00,000 — 42,00,000)
="7,00,000

Question 45

A Limited has furnished the following information for the months from 1st January to 30th April,
2023:

January | February | March | April

Number of Working days 25 24 26 25

Production (in units) per working day | 50 55 60 52

Raw Material Purchases (% by weights| 21% 26% 30% 23%
to total of 4 months)

Purchase price of raw material (per kg)| ~ 10 “12 “13 11

Quantity of raw material per unit of product: 4 kg.

Opening stock of raw material on 1stJanuary: 6,020 kg. (Cost * 63, 210)

Closing stock of raw material on 30thApril: 5,100 kg.

All the purchases of material are made at the start of each month.

Required:

(i) Calculate the consumption of raw materials (in kgs) month-by- month and in total.
(ii) Calculate the month-wise quantity and value of raw materials purchased.

(iii) Prepare the priced stores ledger for each month using the FIFO method. (PYP 10 Marks, May ‘23)
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Answer 45

i)  Calculation of consumption of Raw Material (in kgs) month by month and total

Particulars Jan Feb | March| April | Total
No. of working days 25 24 26 25 -
Production (Per day) 50 55 60 52 -
Production 1,250 1,320 |1,560 |1,300 |5,430
Raw Material Consumed (in kgs) 5,000 5,280 (6,240 |5,200 |21,720
Calculation of Raw Material Purchased

Purchased (Kg)

Closing stock on 30th April 5,100

Add: Raw Material consumed 21,720

Less: Opening stock on 1st January (6,020)

Raw Material purchased 20,800

ii)  Calculation of month wise quantity and value of raw material purchased

% Purchased (Kg) | Price (’) Value (")
January 21 4,368 10 43,680
February 26 5,408 12 64,896
March 30 6,240 13 81,120
April 23 4,784 11 52,624
Total 20,800 2,42,320

iii) Store Price Ledger by using FIFO method.

Receipts Issue Balance
Months |Particulars  |Qty |Rate| Amount Qty  |[Rate | Amount Qty Rate | Amount
() () ()
Jan Opening 6,020 10.5 163,210
Purchases 4,368 10 43,680 6,020 10.5 63,210
4,368 10 143,680
Consumption 5,000 |10.5 52,500 1,020 10.5 (10,710
4,368 10 43,680
Feb Purchases 5,408 [12 64,896 1,020 10.5 (10,710

4,368 |10 43,680
5,408 12 164,896

Consumption 1,020 |10.5 (10,710 108 10 [1,080
4,260 10 42,600 5,408 12 164,896
March |Purchase 6,240 |13 81,120 108 10 [1,080

5,408 (12 64,896
6,240 (13 81,120

Consumption 108 10 [1,080
5,408 12 |64,896
724 13 9,412 5,516 13 [71,708

April Purchases 4,784 11 52,624 5,516 13 [71,708
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Consumption

4,784 |11 [52,624

5,200 13 [67,600 P16 13 14,108
4,784 |11  [52,624

56,732
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Chapter 3

Employee Cost and Direct Expenses
Question 1
A, B and C are three industrial workers working in Sports industry and are experts in making cricket

pads. A, B and C are working in Mahi Sports, Virat Sports and Sikhar Sports companies respectively.
Workers are paid under different incentive schemes. Company wise incentive schemes are as

follows:

Company

Incentive scheme

Mahi Sports

Emerson’s efficiency system

Virat Sports

Merrick differential piece rate system

Sikhar Sports

Taylor’s differential piece work system

The relevant information for the industry is as under:

Standard working hours

8 hours a day

Standard output per hour (in units) 2
Daily wages rate Rs. 360
No. of working days in a week 6 days

Actual outputs for the week are as follows:

A

C

132 units

108 units

96 units

You are required to calculate effective wages rate and weekly earnings of all the three workers.
(MTP March ‘19, 10 Marks)

Answer 1
Calculation of effective wages rate and weekly earnings of the workers A, B and C
Workers A B o
Standard 96 units 96 units 96 units
Output
(8 hrs. x 2 units x 6 (8 hrs. x 2 units x (8 hrs. x 2 units x 6
days) 6 days) days)
Actual 132 units 108 units 96 units
Output
132 Units 108 Untis Zz llllni_tts x100= 100
Efficiency 96 Units 96 Units s
(%) x100= 137.5 x100=112.5
Daily wages Rs. 360 Rs. 360 Rs. 360
Rate
Incentive Emerson’s Efficiency Merrick differential Taylor’s differential
system System piece rate system piece work system
Rate of 57.5% of time rate 20% of ordinary 25% of ordinary
Bonus (20% +37.5% ) piece rate piece rate
Effective Rs. 70.875 per Rs. 27 per piece Rs. 28.125 per
Wage Rate hour piece
(Rs. 360 157 50/) ( Rs.360 1200/) ( Rs.360 1250/)
8 Houwrs ' >" 16 Units ° 16 Units °
Total weekly Rs. 3,402 Rs. 2,916 Rs. 2,700
earnings

Prakshal Shah | 8779794646

Chapter 3 Employee Cost and Direct Expenses




@ VIVITSU ez

STRIVING TOWARDS KNOWLEDGE

(8 hours x 6 days x (108 units x Rs. 27) (96 units x Rs.
Rs.70.875) 28.125)

Question 2

Discuss the accounting treatment of Idle time and overtime wages. (MTP May’20, April ‘19, 5
Marks, RTP May’19, Old & New SM)

Answer 2

Accounting treatment of idle time wages & overtime wages in cost accounts: Normal idle time is
treated as a part of the cost of production. Thus, in the case of direct workers, an allowance for normal
idle time is built into the labour cos t rates. In the case of indirect workers, normal idle time is spread
over all the products or jobs through the process of absorption of factory overheads.

Under Cost Accounting, the overtime premium is treated as follows:

If overtime is resorted to at the desire of the customer, then the overtime premium may be charged
to the job directly.

If overtime is required to cope with general production program or for meeting urgent orders, the
overtime premium should be treated as overhead cost of particular depart ment or cost center which
works overtime.

Overtime worked on account of abnormal conditions should be charged to costing Profit & Loss
Account. If overtime is worked in a department due to the fault of another department the overtime
premium should be charged to the latter department.

OR

Normal idle time: It is the time which cannot be avoided or reduced in the normal course of business.
Itis treated as a part of cost of production. Thus, in the case of direct workers an allowance for normal
idle time is considered setting of standard hours or standard rate.

In case of indirect workers, normal idle time is considered for the computation of overhead rate.

Abnormal idle time: Apart from normal idle time, there may be factors which give riseto abnormal idle
time. Abnormal idle time cost is not included as a part of production cost and is shown as a separate
item in the Costing Profit and Loss Account. The cost of abnormal idle time should be further
categorized into controllable and uncontrollable. For each category, the break-up of cost due to various
factors should be separately shown. This would help the management in fixing responsibility for
controlling idle time. Management should aim at eliminating controllable idle time and on a long- term
basis reducing even the normal idle time. This would require a detailed analysis of the causes leading
to suchidle time.

Causes of Overtime and Treatment of Overtime premium in cost accounting

Causes Treatment
(1) The customer may agree to bearthe entire | (1) If overtime is resorted to at thedesire of the
charge of overtimebecause urgency of customer, then overtime premium may be
work. chargedto the job directly.
(2) Overtime may be called for to make up | (2) If overtime is required to cope withgeneral
any shortfall inproduction due to some production programmes orfor meeting urgent
unexpected development. orders, the overtime premium should be

treated as overhead cost of the particular
department or cost centre which works

overtime.

(3) Overtime work may be necessary to | (3) If overtime is worked in adepartment due to the
make up a shortfallin production due to fault of another department, the overtime
some faultof management. premium should be charged to the latter

department.
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(4) Ov